BANGLADESH RURAL ELECTRIFICATION BOARD

PBS INSTRUCTION 100-28

STANDARD SPECIFICATIONS AND DRAWINGS FOR 6.35/11KV LINE CONSTRUCTIONS



6.35/11 KV
INDEX OF CONSTRUCTION AND GUIDLINE DRAWINGS

Unit Unit Pages
Designation Description

Specification of Construction 9

Single Phase Pole Top Assembly Units

Al 6.35/11 KV Primary, 1-Phase Tangent, Single Primary Support 1

Al-1 6.35/11 KV Primary, 1-Phase Tangent, Double Primary Support 1

A2 6.35/11 KV Primary, 1-Phase Tangent, Max™ Transverse Loading 500 |
Ibs/Pin, 0° to 30° Angle

A2A 6.35/11 KV Primary, 1-Phase Tangent, Max™ Transverse Loading 500 ]
Ibs/Pin, 0°to 30° Angle (For SPC/ Steel Pole)

A3 6.35/11 KV Primary, 1-Phase, 30° to 60° Angle 1

A4 6.35/11 KV Primary, [-Phase 60° to 90 Angle |

A5, ASA, A5B | 6.35/11 KV Primary, 1-Phase, Single Deadend 1

AS5-1, A5-2, 6.35/11 KV Primary, |1-Phase, Single Phase Tap 1

AS5-2A o

AS5-3, AS-4 6.35/11 KV Primary, 1-Phase, Single Phase Tap |

A6 6.35/11 KV Primary, 1-Phase Vertical Double Deadend 1

A7, A7-1 6.35/11 KV Primary, 1-Phase, Wooden Crossarm Construction, Single 1
Deadend

ATA 6.35/11 KV Primary, 1-Phase, Steel Crossarm(X6) Construction, 1
Single Deadend

A8 6.35/11 KV Primary, 1-Phase, Crossarm Construction, Double ]
Deadend

A8A 6.35/11 KV Primary, 1-Phase, Steel Crossarm Construction, Double |
Deadend

A9 6.35/11 KV Primary, 1-Phase, Wooden Crossarm Construction, Double 1
Line Arm 0° to 30° Angle

A9-1 6.35/11 KV Primary, 1-Phase, Wooden Crossarm Construction, Single |
Line Arm, Tangent

A9-TA 1-Phase Primary, Steel Crossarm Construction, Single Line Arm, 1
Tangent

A9A 6.35/11 KV Primary, 1-Phase, Steel Crossarm Construction, Double 1
Support
0° to 30° Angle

A22 6.35/11 KV Primary, 1-Phase Primary, Wooden Crossarm 1
Construction, Junction at 0° to 5 Angle

A22A 6.35/11 KV Primary, 1-Phase Primary, Steel Crossarm Construction, 1
Junction at 0° to 5° Angle

(e oo Rahman (Via. Dinidul Isfan) {M‘;"f‘m‘?i by W G‘A/

Yrmenltant TADD ORER (jr}rwf_” t TAPR RREF Consultar (Md ]Kh!]qg?)
Tawealtant TADD RRER Conmﬂbmt
Ttlage n
BRSO QI G SFLGS (7ai 72 2 b v
BRd 9 e NCa
krabortty) Wl K Ml : P
memha Kamml Ahsa Moftiky: #éinrl Abison M)
p p W Y. ¥
oD TAPP R B v sy nam, Asst. Secy. (Board). " EB-




Three Phase Pole Top Assembly Units

Gl 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, Single |
Primary Support, Tangent

Cl-1 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, |
Double Primary Support, Tangent

CIA 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X7) Construction, 1
Single Primary Support, Tangent

CIB 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X6) Construction, 1
Single Primary Support, Tangent

c2 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, 1
Double Primary Support, Max™ Transvers Loading 500 Ibs/Pin at 0° to
30 Angle

C2-2 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, 1
Double Primary Support, 45° Max™ Angle

C2A 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X7) Construction, |
Double Primary Support, Max™ Transvers Loading 500 Ibs/Pin, 0° to
30" Angle

C2B 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X6) Construction, 1
Double Primary Support, Max™ Transvers Loading 500 Ibs/Pin, 0° to
30° Angle

C3 6.35/11 KV Primary, 3-Phase, Vertical Construction, 30 to 60° Angle 1

C3-1 6.35/11 KV Primary, 3-Phase, Vertical Construction, 10° to 60° Angle 1
for Large Conductor (4/0 ACSR)

C4 6.35/11 KV Primary, 3-Phase, Vertical Construction, 60° to 90 Angle 1

C4-1A 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X7) Construction, 60° 1
to 90° Angle (2 Pages)

C4-1B 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X6) Construction, 60° |
to 90° Angle (2 Pages)

o 6.35/11 KV Primary, 3-Phase, Vertical Construction, Single Deadend 1

C7,C7-1 6.35/11 KV Primary, 3-Phase, Wooden Crossarm (X1) Construction, 1
Single Deadend

C7-1A 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X7) Construction, |
Single Deadend

C7-1B 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X6) Construction, |
Single Deadend

C7-2.C7-3 6.35/11 KV Primary, 3-Phase, Wooden Crossarm (X2) Construction, |
Single Deadend

C7A 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X7) Construction, |
Single Deadend

c7B 6.35/11 KV Primary, 3-Phase, Steel Crossarm (X6) Construction, 1
Single Deadend

C8 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X 1) Construction, 1
Double Deadend

C8-1 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X2) Construction, 1
Double Deadend

(Md. Mozibur Rahman

j “onsuitant TARD'DE :
Yansultant TAPP BRER onsuitant TAPP RREr

(Md. Ud‘@l_slam)

 (Md. Moxammme) Hug;
‘onsultant TAPP BRER

=

ransiliant TARR RREP

1 Ahsan Mollik)

tsiif)«l(.qm Aol AHling i AR 39900
L “]3 Asst. Secy. (Board), BREB.
{Debasish Chakighortty)

PD TAPP BR

.Ahsanul ng-n
Consultant TAPP BR



C8-1A 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X7) Construction, |
Double Deadend
C8-1B 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X6) Construction, |
Double Deadend
C8A 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X7) Construction, 1
Double Deadend
C8B 6.35/11 KV Primary, 3-Phase, Wooden Crossarm(X6) Construction, |
Double Deadend
C9 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, |
Double Line Arm
C9-1 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, Single 1
Line Arm
C9-1A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction, |
L Double Line Arm
g C9-1B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, 1
Double Line Arm
C13 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Wooden 1
Crossarm- Tangent
CI3A 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Steel 1
Crossarm(X7)- Tangent
CI3B 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Steel 1
Crossarm(X6)- Tangent.
Cl4 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Wooden |
Crossarm, 0° To 15° Angle
Cl4A 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Steel I
Crossarm(X7) 0° To 15° Angle
Cl4B 6.35/11 KV Primary, 3-Phase, Side Arm Construction With Steel 1
Crossarm(X6) 0° To 15” Angle
C22 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction With 1
Single Phase Junction
C22A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction With 2
e Single Phase Junction (Run) (2 Pages)
C22B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction With 2
Single Phase Junction (Run) (2 Pages)
C23 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, Single 1
Circuit 1-Phase Tap
C23A 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, Single 1
Circuit 1-Phase Tap (2 Pages)
C23B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, 1
Single Deadend
C25 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction With 1
3-Phase Junction
C25A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction With 2
3-Phase Junction (2 Pages)
C25B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction With 2
3-Phase Junction (2 Pages) =
3
M Mozibur Rahman) (Ma. I,r;;/ (Md. Zamme] Huq |

: . LUThdul |s) ~ j 1 Khal
‘anenltant TAPP BREB L.onsuitani mpé%@én -onsultant Tapn RRER Consultant, TAPR ;‘EEJR

RN :
wmmﬁ?ﬁw‘@ﬁ{ )_CIGO

)
Haque (Debasish Chakighorty (Kamrul Ahsan Moltiky ¥
,,m,,-,,_??}ﬂm - 8 PD.TAPP, BREB Asst. Secy. (Board), BREB.




C26 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction With |
3-Phase Tap

C26A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction With 2
3-Phase Tap (2 Pages)

C26B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction With 1
Single Deadend (2 Pages)

C40 11 KV River Crossing Design for 500" - 890" Span 1

C41 Temporary Spliced Pole for 11 KV River Crossing Design for 750’ 1
Span

C42 Temporary Spliced Pole for 33 KV River Crossing Design for 600’ |
Span

C43 Crossarm Installation on Two Pole Construction 1

C44 River Crossing View 500" - 890’ Span 1

C45 Temporary Spliced Pole for 11 KV River Crossing Design for 750’ 1
Span

C46 River Crossing With 50" Pole 1

C47 River Crossing With Wooden Pole |

C48 River Crossing, 900" - 2000’ (By Tower) 1

DC-C1 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, 1
Double Circuit- Tangent

DC-C1A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction, 1
Double Circuit- Tangent

DC-CIB 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, 1
Double Circuit- Tangent

DC-C2(L) 6.35/11 KV Primary, 3-Phase, Double Circuit, Grade-B, With ]
Wooden Crossarm Construction 0° To 30° Angle

DC-C2(R) 6.35/11 KV Primary, 3-Phase, Wooden Crossarm Construction, ]
Double Primary Support, 0° To 30° Max™ Angle

DC-C2A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction, 1
Double Circuit, 0° To 30° Max™ Angle

DC-C2B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, ]
Double Circuit, 0° To 30° Max™ Angle

DC-C3 11 KV Primary, 3-Phase, Double Circuit, 30° To 60° Angle 1

DC-C4 11 KV Primary, 3-Phase, Double Circuit, 60° To 90° Angle 1

DC-C7 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, |
Double Primary Single Deadend

DC-C7-1 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction, |
Single Deadend

DC-C7A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction, 1
Double Primary, Single Deadend

DC-CS8 6.35/11 KV Primary, Wooden Crossarm Construction, Double Circuit, 2
Double Deadend, 0° to 30 Angle (2 Pages)

DC-C8-1 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction- 2
Double Deadend (2 Pages)

DC-C8A 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X7) Construction- 2

’

'-\Mmr Rahman)

~ansultant TAPP BREB

~ (Md uu?ilig;am): /Yy

Onsultant Tapp RRER (Md. Mazammei riug,

':“”S'gg\”f TAPP RRFH ﬂ%ﬁiﬁm
h w Caiﬁ i '

k-

. (Kamrul Ahsan Mollik)
%ﬁ‘-t Secy. (Board), BREB.

(Debasish Chakrabortty)

sanul Hague)
PD.TAPP. BREB.

Md.
Consultant TAPP BREF



Double Deadend (2 Pages)

DC-C8B 6.35/11 KV Primary, 3-Phase, Steel Crossarm(X6) Construction- 1
Double Circuit Double Deadend

DC-CI3A 6.35/11 KV Primary, 3-Phase, Double Circuit Single Support |

DC-Cl4A 6.35/11 KV Primary, 3-Phase, Double Circuit Double Support |

Guy and Anchor Assembly Units

El-1, E1-2, 6.35/11 KV Single Down Guy through bolt type 1

El1-3

E2-1, E2-2, 6.35/11 KV Single Overhead Guy through bolt type I

E2-3

E5-1, E5-2 6.35/11 Crossarm Guys for Horizontal Deadends (2 Pages) 2

E6-2, E6-3 6.35/11 Double Down Guy |

E7 Lay Pole Guy for Angle Pole/Tap Pole |

F2-1, F2-2 Log Anchor Assembly I

Distribution Transformer Assembly Units

G105 6.35/11 KV 1-Phase Transformer at 1-Phase Tangent I

G106 6.35/11 KV 1-Phase Transformer at 1-Phase Deadend |

G136 6.35/11 KV 1-Phase Transformer on 3-Phase Circuit |

G312 6.35/11 KV 3-Phase Transformer Cluster Mount (2 Pages) 2

G315 11 KV 3-Phase Transformer on 2-Pole Platform Mounted for 230/400 |
Volt Power Loads

Lifting Pole Assembly Units

HI 6.35/11 KV Lift Pole for 33 KV Line |

HIA 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single I
Deadend

Secondary and Service Assembly Units

J5toJ12 230/400 V Secondary Assemblies |

K10 to K16 230/400 V Service Assemblies I

K17 to K21 230/400 V Service Assemblies I

Miscellaneous Assembly Units 1

M2-1, M2-11 Grounding Assembly, Ground Rod Type |

M2-2, M2-12 Pole Protection Assembly, Plate Type 1

M2-9 Pole Top Protection Assembly 1

M2-15 6.35/11 KV Grounding Assembly for Sectionalizing Air Break Switch 1

M3-4 6.35/11 KV 1-Phase, One Sectionalizing Fuse Cut-Out 1

M3-15 6.35/11 KV Sectionalizing Air Break Switch (2 Pages) 2

M3-15A 6.35/11 KV Sectionalizing Air Break Switch (2 Pages) 2

M3-16 6.35/11 KV Three Sectionalizing Disconnected Switch |

M3-16A 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single 1
Deadend

M3-23 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single 1
Deadend

M3-25 Three Sectionalizing Oil Circuit Re-closer with By-Pass Switch I

[} ( "
: — ' ) Md. M&ammel Hug)
M Mozibur Rahman) = [MU_- Duhidul fsjap «( A A Khaleque
km o0 BREB  CONSuitant Tapm aw{f;),;-, Jonsultant TADA o ﬂf\l:i“.mu?ul_ B,ﬂ_ln_ F?F-'

| Haque)
(Md'anT:PP BRER (Debasish Chakia rity)

sul "
Const 2D TAPP BREB. ﬁ‘(!(amml Atisan Moliky™
“Asst, Secy. (Board). e FRy,

B OF ([@[E T SEAwe Pae 72 59900




(Cluster Mount)

M3-25A 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single 1
Deadend

M35-1 to M5-8 6.35/11 KV Miscellaneous Primary Assemblies 1

M35-9 to M5-16 | 6.35/11 KV Miscellaneous Primary Assemblies 1

M5-9A to 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single |

M35-16A Deadend

M5-14B to 6.35/11 KV 1-Phase Steel Crossarm(X6/ X7) Construction, Single 1

M5-16B Deadend

M5-17 to 6.35/11 KV Miscellaneous Primary Assemblies I

MS5-24

M7-11 6.35/11 KV Voltage Regulator, Pole Mount 1

M7-11A 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single |
Deadend

M7-13 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single |
Deadend

M8-6 Bazar Area Secondary(L.T) Example |

MS8-7 Bazar Area Detail Duplex Installation |

M8-8 Meter Pole, Two Wire, 1-Phase Service, Single Meter 1

M38-9 3-Phase, 4-Wire Grounded Wye Meter Loop 230/400V Class-100 1
Meters

M8-11 Residential, 2-Wire 1-Phase Service, 230 Volts ]

M8-12 Secondary Metering Guide, 3-Phase 230/400 Volts, 4-Wire, Grounded 1
Wye

M8-15 6.35/11 KV Primary Metering Guide, 3-Phase, 4-Wire Star 1

MB8-15A 6.35/11 KV 1-Phase Steel Crossarm(X7) Construction, Single I
Deadend

MS8-16 6.35/11 KV Primary Metering, 3-Phase, 4-Wire Star (3 Pages) 1

MS8-16A 6.35/11 KV Primary Metering, 3-Phase, 4-Wire Star (Page lof 3) 1

M8-16A 6.35/11 KV Primary Metering Guide, 3-Phase, 4-Wire Star, In-Line |
Transformer Bank (Page 2of 3)

M8-16A 6.35/11 KV Primary Metering Instruction Notes (Page 3of 3) |

M9 3-Phase, 4-Wire Grounded Wye Meter Loop 230/400 V Class-100 1
Meter

M9-13 3-Phase Capacitor Installation Non-Automatic Switching Cluster Type |
Mounting Bracket (Page | of 3)

M9-13 3-Phase Capacitor Installation Non-Automatic Switching In-Line |
Type Mounting Bracket (Page 2 of 3)

M9-13 3-Phase Capacitor Installation Non-Automatic Switching Connection I
Diagram and Notes (Page 3 of 3)

M17 Pole Bog Shoe |

M18, M18-1 Pole Stabilizer Logs L.

M19 Wooden Crossarm Drilling Guide !

MI9A Steel Crossarm Drilling Guide !

M20 6.35/11 KV Pole Framing Guide (30’ and Longer) |

MRW

TAnan

;
/

Haque)
C,S;T 2 LTKPP BRED

Iant TAT P B REW

(De

lﬁr"‘q‘{;‘ -,lu}-”dur ( d Zar
NSLifant ISlam; Ime) Huq
Sliifg TAPR R.r‘?)f"r' OHQUH&T TAPR RREP @%&%Hﬁm)
? B3 O @(E 3T mwﬁ{mmsqqoo
pebasish hak:g%oﬂm
PDTAPP ATRirul AtSan Moty

Asgt Cecv (Raardy DOTER



M20-1 6.35/11 KV Pole Framing Guide (25'Pole) 1
M21 Angle Construction Guide Crossarm to Vertical Construction 1
M22-] Tree Trimming Guide I
M22-2 Tree Trimming Guide I
M24 Installation Guide for Open Wire Secondary |
M24-1 Installation Guide for Multiplex Cable Secondary I
M26-5 Security Light Installation Guide I
M27 6.35/11 KV Transformer Grounding Guide for 1-Phase Installation 1
M27-1 6.35/11 KV Transformer Grounding Guide for 3-Phase Installation 1
M28 6.35/11 KV Transformer Connection Guide for Secondary and 1
Services
M28-1 Fuse and Lead Sizes for 6.35/0.23 KV Distribution Transformer |
M29-1 Tap Assembly Guide I
M29-2 Tap Assembly Guide I
M30-1 Guide for Installation of Ground Wire Above Neutral on Guyed Pole I
M30-2 Guide for Installation of Ground Wire Above Neutral on Poles with 1
Butt Wrapped or Driven Grounds
M31 6.35/11 KV Cut-Out and Lightning Arrester Connection Details 1
M32 Drawing of Guard Cradle for Rail Road Crossing of 6.35/11 KV Line 1
M40-10 Tying Guide, Single Insulator |
M40-12 Line Guard Data and Installation Guide I
M40-17 Tying Guide, Double Insulator 1
M41-10 Angle Assembly Guide, Vertical Connection 30° to 60° Angle, ACSR 1
Conductors with Line Guard
M42-11 Deadend Assembly Guide, Deadend Clamp Method ACSR 1
Conductors
M43-10 Tap Assembly Guide, ACSR Conductors |
M45-21 Splicing Guide- Compression Type ACSR Conductors I
M45-22 Multiple Service Connection Guide for Domestic Conductors |
M46-02 Service Entrance Compression Type |
M46-04 “C” Type and “H Type Compression Connector Guide 1
M47 Preformed Guy Grip Data and Installation Guide 1
M50 Minimum Vertical Conductors Clearances 1
RI Right of Way Clearing Guide I
Sag Chart Units
S-3-1 Initial Sag Chart of # 3 ACSR (6/1) Conductor 1
S-1/0-1 Initial Sag Chart of 1/0 ACSR (6/1) Conductor |
S-4/0-1 Initial Sag Chart of 4/0 ACSR (6/1) Conductor |
S-477-1 Initial Sag Chart of 4/0 ACSR (6/1) Conductor 1
S-3-F Initial Sag Chart of # 3 ACSR (6/1) Conductor |
S-4/0-F Initial Sag Chart of 4/0 ACSR (6/1) Conductor I
S-477-F Initial Sag Chart of 4/0 ACSR (6/1) Conductor |
L Total Pages 220
Md. Mo ' W
t{m Ilfgmﬁ?r Ir P;ﬁrﬁfqaim;) C(’HSU“ %a_]r]:'gfé! };Lé?é‘r (Md K
P RRER R T s nsultant TAR B
o %RI REICT ﬁ(m T
Q - Tl Ml ) TR 39900
ity)
pasisn Cha .
LMs\ﬂm'rR}p%aungF (De PD,TAPP. B ¢amrul Abisan MoBRY

¥ .an.-.ut- \J«v} \Uu‘ini)' Bi{bﬂ




6.35/11 KV
SPECIFICATIONS FOR CONSTRUCTION

1. GENERAL
All Construction work shall be done in a throughout and workmanlike manner in accordance
with the staking sheets, plans, specification drawings.

It may be mentioned here that some drawings in this instruction are found with 5'-0" crossarm
for 300" RS (Ruling Span). These drawings can also be used for 150’ RS, though they are not
shown in those sections.

2. POLE DISTRIBUTION
In distribution of the poles, large, choice, close-grained, lower class poles shall be used for
angle, crossing, deadend and equipment location.

3. POLE INSTALLATION
The minimum setting depth for poles shall be as follows:

Pole Length (feet) Setting Depth (Feet)
25 5.0
30 5:8
35 6.0
40 6.0
45 6.5
50 7.0
55 75
60 8.0

On sloping ground, the depth of the pole shall always be measured from lower side of the
hole.

Pole holes shall be approximately eight inches (8”) wider than butt diameter of the pole and
shall be at least as large at the bottom as the top.

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

{mm}]mm]  (Md. )W zammel Hug) (Md.Ab ulmﬂgﬂ)

“onsultant TAPP BREB  onsuitant Tapp .qm,- nnquitanl TAPP RRET LM itant TAPP B
bRY ©F @TE TER SEAIE fTaS 7 54300
“
n Chaks \‘mf |
M) (Debasis BRI ;.
ifg?ﬂmﬁ:?ﬂﬁ?m DD TAPP.B i A AT
; Lang, Hecy. (Board), BRE




In back filling, holes shall be tamped their full depth. Four inches (4”) to six inches (6") of
soil shall be shoveled into the hole around the pole and than firmly tamped. The process is
repeated until the hole is filled to the surface. Excess soil is to be banked around the pole.

After completion of the job all pole locations are to be inspected and if any setting of the soil
has taken place the holes in question must be re-tamped and more soil banked around the
holes.

Tangent poles shall be set so that adjacent crossarm gains in opposite directions, except at
terminals and deadend, where the gains of the last two poles shall be on the side facing the
terminal or deadend. On unusually long spans the poles shall be set so that the crossarm
comes on the side of the pole away from the long span. Where one pole top pin is used, it
shall be installed on the opposite side of the pole from the gain.

Pole shall be set alignment and plumb except corners, terminals, angles, junctions or other
points of strain, where they shall be set and raked against the strain so that the conductors
shall be in line. These poles shall be raked against the conductor strain not less than one inch
(17) for each ten feet (10) of pole length nor more than two inches (2") for each ten feet (10°)
of pole length after conductors are installed at required tension.

4. GRADING OF LINE
When using high poles to clear obstacle such as buildings, foreign wire crossing, railroads etc.
there shall be no up-strain on pin type insulators in grading the line each way to lower poles.

5. GUY AND ANCHORS
Guys shall be installed after the poles are raked but before the conductors are strung and shall
be attached to the pole as shown on the construction drawings.

All anchors & rods shall be in line with the strain and shall be so installed that approximately
six inches (6”) of the rod remains out of the ground. In cultivated fields or other locations as
deemed necessary, the projection of anchor rod above earth may be increased to a maximum
of twelve inches (12”) to prevent burial of the rod eye. The back fill of all anchor holes shall
be thoroughly tamped the full depth.

6. BOLTS

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

>
| <
(MMM Rahman) (Md. g_}m (Md. Mozamme! Hug) (Md_ Abdul

€
Siam) <onsultant TAPP RRE ~onuitant TAPP. BREF

Tnenitant TABD RRER onsuitant TApp BRE
533 O @18 TSR S R e 39900
(M, Afisanul Hage) obasish Crakiagorty) (Kamrul Ahsan Mollik)

Consultant TAPP. BREB © oD TAPP. BREE. Asst. Secy. (Board), BREB,




All bolts must be of the proper length. After installation the threaded portion of the bolts shall
protrude at least one half inch (%2") but not more than two and one half inch (2'2") beyond the
locknuts

7. LOCKNUTS
A locknut shall be installed with each nut on every bolt (Machine/ Double Arming/ Eye/ Oval
Eye/ Upset bolt) and on all threaded hardware, such as insulators pins.

8. INSULATORS
Care is to be exercised in the handling and installation of insulators. Wear hand gloves during
handling insulators. All insulators shall be inspected before installation and damaged units
rejected. Suspension assemblies shall be checked to make sure that all cotter pins are securely
in place. Pin type insulators shall be hand tight on the pins with the insulator grove parallel to
the conductor.

9. CONDUCTORS

Conductors must be handled with care. They shall not be tramped on nor run over by vehicles.
Each reel shall be examined and the wire shall be inspected for cuts, kinks/bends or other
injuries. Injured portions shall be cut out and the conductor spliced. While installing the
conductors they shall be pulled over suitable rollers or stringing blocks that are properly
mounted on pole or crossarm. This is to prevent conductor binding while stringing and to
ensure uniform conductor tensions during the sagging operation. No splices shall be pulled
through stringing blocks. The neutral conductor shall be maintained on one side of the pole
(preferably the load side) for tangent construction and for angles not exceeding 30° be
positioned in the inside of the angles.

For neutral and secondary conductors on poles, insulated brackets may be substituted for the
angle and double upset bolts on angle 0° to 5° in locations known to be subject to considerable
conductor vibration.

10. CONDUCTOR ACCESSORIES
(a) TIES: Conductors shall be tied to pin insulators as illustrated in the appropriated M40-10
(for single insulator), M40-1 (for double insulator) and M40-12 Tying Guide
Specifications. On tangent poles, they shall be tied in the top grove of the insulator and on
the angle pole they shall be tied on the side of the insulators away from the strain. The top
groves or side groves of pin insulator should be larger than the overall conductors
diameter including armor rod is require.

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin | Reviewed By Approved By I Revision No. Unit Designation

July 1979 l BREB BREB Board | 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

(\M Rahman) (Md. Dunidu! Islam) (Md. MiammelHuqJ (Md_Abdul Khal

'mnsiltant TADPD RRER ‘onsuitant TAPP RRE! ‘onsultant TAPP BRFF “ananltant TARPR Egpj

3 TN I 7O TR G 7 39900

(Depasish Z nakr&\%gtty} g_

, PD.TAPP. B A




(b) SPLICES: Conductor shall be spliced in accordance with the appropriate M45-21 (splicing
guide- compression type, ACSR conductor) and M45-23 (automatic sleeve installation
guide) Splicing/ Sleeve Installation Guide Specifications. All conductors shall be
thoroughly cleaned by wire brushing and corrosion inhibitor applied before splicing or the
installing conductors. Only one splice per conductor is permitted in any span. Splices are
not permitted in deadend span, Grade B crossing spans and preferably not in the adjacent
spans of Grade B crossing. Splices shall be located at least ten feet (10") from the nearest
conductor support.

(¢) TAPS AND JUMPERS: Jumper connectors shall be installed approximately six inches
(6”) from the line guard. Jumpers and other leads connected to conductors shall have
sufficient slack to allow free movement of conductors. Where slacks in the jumpers or
leads is not shown in the construction drawings, it shall be provided. All leads on
equipment such as transformers, re-closers etc. shall be a minimum number 6 cooper
conductivity. Where aluminum jumpers are used, a connection to a un-plated bronze
terminal shall be made by splicing a short stub of cooper to the aluminum jumper using sa
suitable aluminum compression connector.

(d) HOT LINE CLAMPS AND CONNECTORS: Connectors and hot line clamps are suitable
for the purpose shall be installed as shown on the Guide Drawings. On all hot line clamp
installation, the clamps and jumper shall be so installed so that they are permanently
bonded to the load side of the line. This applies in all cases, even where the line is such
that the tap line is in actually the back bone to the power source.

11. LIGHTNING ARRESTER GAP SETTING
The external gap electrodes of lightning arresters, combination arrester-cut-out units and
transformer mounted arresters shall be adjusted to the manufacturer’s recommended spacing.
Care shall be taken that the adjusted gap is not distributed when the equipment is installed.

12. SAGGING OF CONDUCTORS
The conductors shall be sagged in accordance with the appropriate sag table. The air
temperature at that time and place of sagging shall be determined by a certified etched glass
thermometer. Conductor of the same size shall be sagged evenly. In no case shall a conductor
be drawn up tighter than specified for the particular conductor ruling span and temperature.
Tolerance in stringing sags shall be zero inches (0”) up and three inches (3”) down.

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

(M.d/{i?m{nr— Rahman) (Md D:J'-'M."i(Isia;n).._ (M:“Xj“; nug) anmmm,_“t‘APRB AS

Tapgultant TADPD AREPR ansuitant TARP RR&F' “onsultant TAPP RRET

) aKra m)
(Md. Xnsanul Hagque)  opasish @% ~ (Ramrul Ahsan Molik
APP BREB | P B orcd
(onsultant T, PD.TAP Asst. Secy. (Board), BREB,




13. SECONDARIES AND SERVICE DROPS
Conductor for secondary underbuilt on primary lines and off-line secondary (LT) shall be bare
except in those instances where prevailing conditions may dictate that service cables must be
used. Secondary conductor shall have a sufficient capacity to carry anticipated future load
and shall be sagged in accordance with the appropriate sag and tension table.

Service drops shall be multiplex service cable. The service cable shall have an adequate
capacity to carry anticipated future loads and shall be sagged to provide more than minimum
vertical clearance over obstacles as required on Guide Drawing M50,

Secondaries and service drops shall be so installed as not to obstruct climbing space. There
shall not be more than one splice per conductor in any span and splicing sleeves shall be
located at least ten feet (10") from the conductor support. Where the same covered conductors
or service cables are to be used for the secondary and service drop, they may be installed in
one conditions run.

14. EQUIPMENT GROUNDS AND POLE PROTECTION

At the initial stage of RE (Rural Electric) program, one (1) 8%5/8" hot dip galvanized MS
ground rod was installed/ driven at every equipment installation and all surge arrestor
locations. Due to enhance use of underground water one ground rod is enough to maintain
minimum ground resistance. For grounding purpose circular of Chief Engineer (Project) vide
memo no. 202, dated 30/09/2018 and PBS Instruction 100-22 must be followed. The ground
rod shall be driven full length into un-distributed earth and in accordance with Grounding
Assembly unit M2-1. The top shall be at least twelve inches (12”) below the surface of the
earth. The ground wire shall be attached to the rod with a clamp and secured to the pole. Each
transformer and automatic re-closer installation shall two (2) separate connections from the
frame or tank to multi-grounded neutral conductor and ground.

For safety of switch operator, four (4) ground rods shall be installed at every sectionalizing air
break switch installation (Refer to Grounding Assembly unit M2-15).

A driven ground rod (M2-1) or a guy/anchor combination may be used for pole protection
purposes. When neither of the above is available and pole protection is required, a butt type
grounding plate shall be installed (refer to Pole Protection Assembly unit M2-2). Pole
protection shall not be installed at Grade B crossing.

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS I[nstruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

(AT bur Rehman) _ (Md. I.Ju;*fr'dul.lslam) (Md: Mozammel Hug) %
“nnenitant TAPP RRER Onsuifant TAPD gpg: vonsultant TAR™ T

‘ . (Md. Abdy]

B = - . f‘ﬂx!lffnn!‘l'dlghhllg%}g)n
(OO O [@I€ R SFEMS PaS 72 Y3900 B

(Debasish akrabortty ﬁq

ER . y B
Ahsanul Haque) PD,TAPP BR o TRamru) Atisan Moltik)
*FR.

Qé?‘-‘ii‘m“tTAPp BRER Asst. Secy. (Boar?h T




The equipment ground, neutral conductor and lightning arresters shall be interconnected and
attached to a common ground wire.

The correct quadrant location for the ground wire on a pole is depicted or noted on each
individual Pole Top Construction Assembly Unit. The ground wire shall have a minimum
clearance of two inches (2”) from all pole line hardware and be securely stapled to maintain
this position.

15. RIGHT OF WAY

The right of way shall be cleared by removing under-bushes and trees and trimming adjacent
trees so that the right of way is clear from the ground up and to the width required. Trees will
be trimmed symmetrically unless otherwise specified. Dead trees beyond the right of way
which could strike the line if they fell shall be removed. Leaning trees beyond the right of way
which would strike the line in falling shall be topped or removed. Palm trees requiring topping
shall be removed in their entirely. Rapidly growing trees that could be a threat to the line shall
be removed. Fruit trees and ornamental trees shall be trimmed and not removed unless
otherwise authorized.

BANGLADESH RURAL ELECTRIFICATION BOARD
PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction
Date of Origin | Reviewed By Approved By Revision No. Unit Designation
July 1979 | BREB BREB Board 6 Specifications
| Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

- (_ B —
;vlci.'.’dé'Mahmm] (Md. Duhidyl Islam), (Md. Mpzammel Hug) W

Consultant TAPP BREB  "ansuitant TApp BREr i R e Kh‘le%w)
3 “nnenttant PAPE RRET

b B @R Wur Sraiie Bie M 39700

:ﬁ)‘yabomﬂ %‘ -

pasis 5 y
o Kol B DD TAPP. BREB ¢ (Ramrul Ahsan Molti§ ™

consultant TAP Asst. Secy. (Board). BREB.




6.35/11 KV
DOUBLE CIRCUIT DESIGN CRITERIA

1. GENERAL
The following information specifies special design criteria and requirements that must be
considered when two 6.35/11 KV distribution circuits are to be placed in a common use
(double circuit single pole) line configuration.

2. DESIGN PHOLOSOPHY

The primary objective of a common use pole line is to achieve savings of materials, costs and
right of way by eliminating one pole line. However, when contemplating a common use pole
line the designer must also be aware that there are also certain disadvantages to this type of
construction. A major disadvantage is that two circuits on a single pole line the probability of
outage to both the distribution line is increased. Also, this type of line configuration will be
somewhat more difficult. Large line angle, equipment locations and installations, guying,
deadends, tap-offs, and sub-station exists all presents unique design problems which will be
encountered and must be solved. The advantages and disadvantages must be carefully
weighed against each other before a decision to construct a double circuit line is finalized.

3. STAKING CONSIDERATIONS
The Double Circuit Pole Top Assembly Units were designed using the criteria that the
“express” circuit will be the top circuit. An express circuit is one which carries a block of
energy from one point to another without disturbing energy along the way. The bottom circuit
of the double circuit line will be the source for all taps take-off and transformer installations.

The double circuit line should be as straight as possible between terminations as any increase
in the number of line angles and control points will result in an increase in the cost of the line.
Large line angles which require vertical construction should be avoided is at all possible.
Vertical angles are turned on three separate poles which not only requires more right of way
but will be substantially more expensive to construct. Also due to inherent design of the
vertical corners, there may be instances wherein standard BREB phase positions cannot be
followed.

4. POLE TOP ASSEMBLY UNITS
The Double Circuit Construction Assembly Units consist of two 11 KV circuits, sharing
common multi-grounded neutral. For horizontal construction, one common use pole is utilized

BANGLADESH RURAL ELECTRIFICATION BOARD
PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction
Date of Origin Reviewed By Approved By | Revision No. Unit Designation
July 1979 BREB BREB Board 6 Specifications
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020
)

(e Mozibur Rahman)
snsultant TAPP BE

— /
(Md. D n( (Md. Abul Khaleque)
unul Islam) (K" ozammel Hug) Consultant TAPP, BREB
Consuitant TAPP RRE" <gndiitant Taon ~or-

Y2 0 (410 HOR SIS PR |2 Y9900

; ) @ﬁ
(Mdm 1Deg sish a;g

(onsultant TAPP B (Kamrol Absan Mo}lm
Asst. Secy. (Boa .



with three phase conductors of one 11 KV circuit located at the top position of the pole and
the phase conductor of the other 11 KV circuit, along with a neutral common to both circuits,
located at the bottom position of the pole. For vertical construction three poles are utilized
with like phases attached to a common pole. Note that the yellow phases and the common
neutral conductor are always attached to the center pole, whereas the poles to which the Red
or Blue phase are attached will be dictated by the direction of the line angle.

The series of the 11 KV Double Circuit Pole Top Assembly Units are identified by a “DC”
prefix. These drawings supplement and are to be used in conjunction with the latest revision
of the “Standard Specifications and Drawings For 6.35/11 KV Line Construction” PBS
Instruction 100-28.

. NOMINAL POLE SIZE-CLASS AND SPAN LENGTH
The nominal pole height and class to be used with tangent construction under level ground
conditions using the normal span length as stipulated below will be 40’-3.

The nominal pole span length for tangent construction using a 40'-5 pole under level ground
condition shall be 300'.

Note that the minimum conductor clearance as stipulated on Guide Drawing M50 as found in
PBS Instruction 100-28 will dictate the actual span length and pole height required.

. PHASE AND COMMON NEUTRAL CONDUCTORS
The Double Circuit Pole Top Assembly Units were designed using 4/0 ACSR conductor as
the phase conductors for both the top and bottom circuit and a 4/0 ACSR conductor as
common neutral conductor. These conductors are to be sagged in accordance with sag table
attached with PBS Instruction 100-28.

.GUY AND ANCHORS

The guying requirement for horizontal double circuit pole top configurations in that each
circuit is to be guyed separately. If a down guy is used for the top circuit of a DC-C@ units,
the guy must be located on the neutral side and be positioned to ensure and adequate, guy to
phase conductor clearance. A down guy for the top circuit is not permitted on the side of the
pole on which the two phase conductors are located. For the DC-C8 unit the center phase
Jumper support insulators are to be positioned on the side of the pole away from the top circuit
down guy. In instances where a top circuit down guy cannot be installed, an overhead guy to
be stub pole must be utilized. The stub pole height must be adequate enough to maintain a

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

;A&fmjfiahman} (Md. Dyl jsla (Md.{lozamme! Hug; dul Khal
Tnenltant TADD RRER ‘onstitant TAPR pn:?;-r Sansultant TARPD RRE! ~ 2%1@%\%1:? R P)T"-‘

Rt @@mmﬁwﬁmm %4400

)
ulH as\B“O %‘
TR TAPP i

"nnwham TAPP B (Ramrul Atsan Moliik)
b B

"Asst. Secy. (Board), B!




minimum of two feet (2) clearance (in all directions) between the top circuit overhead guy
and the bottom circuit phase conductors.

On virtual up to sixty degree (60°), the center pole shall have two (2) guys and the other two
(2) poles shall have one guy each. On vertical angles from sixty degree (60°) to ninety degree
(90%), the center pole shall have four guys and the other two poles shall have two (2) guys
each. In both instances the standard one to one (1:1) guy lead to height ratio will fulfill both
guying and guy phase conductor clearance requirements.

Special guying instructions are noted on each individual construction drawing.

BANGLADESH RURAL ELECTRIFICATION BOARD

PBS Instruction 100-28 : Standard Specifications and Drawings for 6.35/11 KV Line Construction

Date of Origin Reviewed By Approved By Revision No. Unit Designation

July 1979 BREB BREB Board 6 Specifications

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013 & February 2020

(M5 Raiman) ’(am} (m Hu M

“onsultant TAPP RRER BREF  on TARE S (Md. Abdul Khaleque)
Sonsultant TADD RpEr nmultﬂanAPPeci{F

LR} ©F @ O S@IfTe FiaR 7 34900

(Md:h%;;e; {Debasish Chakrabortty) @‘ﬂ

Consultant TAPP BREB  ©n TAPP BREB # (Rt Ahsan Moltiky
AS‘“ Secy. (Board) RREB.




d

\\ e
o=
- \\

ek

POLE TOP PIN ASSEMBLY

f ! S .
i |= -
% '
@ ‘? ' cm l | ‘55
N w | & e £5
x . . e . H}} - e j_ @ S ¥4
| bs I 5 :
ek—d I | \-5
I I bs | |
| | | | )
| | | ! gﬁ
|, o )] b b
| | ‘ Qbmﬂfé?mmmqgmq?o { 6 J'%
-~ =9 =0 £€
13 Maziby . I\m;;m ] d. Abdul Khaleque)
--(:Tms#\é.{‘l?;ﬂ?;‘f fane, e (Md, Dunigu Islat) -'_“;[gns';ultant TAPP RRE! Cc%u]tantTAPP, BRER . (Md. Ahsarul
Onsuitant Tapp RRET Consultant TAPP BRET
TEm| CODE N0 MATERIAL meml cope | o MATERIAL
Q C1 1_linsulator, pin_type,11 KV d B46 3 | Washer, square, 2-1/4"
b B2 1_{Pin, pole top, 20" bs |B33/34/35] 1_ | Bolt, single upset -
ek [B50/138] 3 [Locknuts ¢ B6/7/8 | 2 |Bolt, machine, 5/8 xreqd. length
cm! C3 1 1Spool Insulgtor 1-3/4"dia Qrooy

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 1-PHASE TANGENT, SINGLE PRIMARY SUPPORT

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 A1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




b

M T
s N B e
ﬂ/ﬂ@—- P

POLE

P

s

%
S

=

b

o~

TOP PIN ASSEMBLY

NS "
<+ I i—l b [
...._-._......___.-_..._-_._..| QI‘- e T‘r_?%
- | 4 i | Ee |
o int ¢ Eo il
ES
I 11} ENRIVE |
oW +l=3 T
© r 1 cm | gg 93
X L o9 s T E 5
i | T |, ‘
e e
_// | i | ] ’é‘éf fﬁ
dle—d 4 i R P4
| . | ( 88 A
| J = Lo
| | ; =3 J
o Md. Abdul Khaleque) e, | | & 2|
: e . :
J ; | r‘.}\n!lﬂfﬂr‘f%‘& PR %}T{R C{‘.EIISIJIMLTAPR BRﬁ | :
~ f J ri | ( g%
e
5 SNET N
5 |
(Debasish Chakrabortty) Te ‘% '
PD.TAPP BREB ot \
NOTE : For use at Grade B crossings. 2 & Bl_
~
D
"EM| _CODE NO MATERIAL ITEM| CODE NO. MATERIAL
a C1 2 |Insulator, pin _type , 11 KV ek B50/138 Locknuts, as required
b B2 2 |Pin, pole top, 20" ‘
c | B6/7/8 | 2|Bolt, machine, 5/8”" x required length
d B46 1 |Washer, square, 2-1/4" i
bs IB33/34/35] 1]|Bolt, single upset
m C3 1|Spool Insulator, 1--3/4" dia groove

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV PRIMARY, 1-PHASE TANGENT, DOUBLE PRIMARY SUPPORT

Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 A=
Davrdninem Plade. T 1000 T 1001 Aciereand 100OHO T 1. 100K Avvceect ANTTY Bahsssass AN



Ty

-

/

ek

POLE

/_h\
/

%

f T A

—te

*

TOP PIN ASSEMBLY
L33 BT @S STOTY Sfie BrER 7R $3300

b

el

c

|
R ¢ ||
e | BRER
| A ETA | c—d—ek
—~~ . /_
ko o
. glg ; Neutral
& l | Position of Guy T e A
o | : I J-/ 2
| ! i Gu \]
LB --
\ s o
/ ! i L? \ fg
—pk=—d | :
o I | da  [DebasishCha ty) \ £a
¢ | D, TAPP, BREB. 3 g
o Mozibu R lgzg?ﬂ | F QNP X e
Tangurltant TA L = -
| | (Md. Abdul Khaleque) \ % 8
] i i Canenltant TADPP B ER - \\ \\ 2
- | | d“Ahsanul \\ \ x
' | ] { NOTE : ‘n%u‘ffnnrrwgar?“k?p
5 | (Md. Modamme! Hug) 4 4/0 — 0° o _ o
L ot Tape e £ 4/0 oo 010" = ABOVE. 10 USE A3 CONST.
Md. Dunidul 1siarmi, ! i L 1/0 — B T
'ini‘i&jii;mt TAPP RRE o~ # 1/0 00 TO 50 ABOVE 20~ USE A3 CONS
#3 - 0 TO 30
ITEM | CODE NO MATERIAL ITEM| CODE NO. MATERIAL
a 1 2 |lnsulator, pin tgé%?’,ll KV da B72 1 Bracket, Neutral
b B2 2 | Pin, pole top,
¢ 1BB/7/8 ; Bolt, machine, 5/;8";:;-:1%(1. length ek |B50/138| 4 Locknuts
d B46 Washer, square, 2-—
cm C3 1 | Spool Insulator 1=3/4" dia_qroove

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY,

1—PHASE DOUBLE PRIMARY SUPPORT
MAX. TRANSVERSE LOADING 500 LBS/PIN (0° TO 30% MAX ANGLE)

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

A2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020



b b
—
w =
ﬂ%‘:‘.{: 5@]
\
ek / ~ ls /
POLE TOP PIN ASSEMBLY 0000
a . y A
\ | ,-/’J
b P
. @‘9\@ / /
k:::}:a = ¥ !
e % —— —— - ..._] {.c‘ ,f
. / /
¥ /
— -1 , ,
/ /
x ' / /
— w ‘ [ f! ,"
:5 | of i Neutral
58 | -1— | Position of Guy / /
. b I /
i L8 } i
o o
S
/ ||
c—eak~ ! | ! ]
de P
. i \\ \\ f 5 Ej
I \ \ (=
(/ | ] \ ! 5 g
wd. flozibur Ra.h‘mi}!?_‘![ \ \

'g\arlmmaon? TAPD RRFT ] || \\ "\ = %
a8 Q= \ LB
| | (Md,‘Abdul Khaleque) 4 Rnsanul Haque) ¥

o~ l | “anenltant TAPD RRER :ﬁ(yﬂﬂtﬂﬂt.r”% A} é
fag ] Nebasish Cha
/ NOTE : °D.TAPP BREB
0 o 0
- 10 1 -
{Md Duhidul Islam; f\Md Za_TﬂTEIf!! Hua) - ? 4,"10 Oo 0 10 5 ABOVE 100 USE A3 CONST.
nonsuitant TAPT =R Sonsultant TAPP RREE g 9 70 — 0% 10 20° ~ ASOVE 20° USE A3 CONST.
4 3-0%70 30°
ITEM [MAT. CODE | Qty. MATERIAL ITEM[ MAT. CODE [ Qty. MATERIAL
a Cl 02 | Insulator, pintype 11 KV da_ B72 01 _ |Bracket, neutral =
b B2 02 Pin, pole, top, 20" < C3n 0T__[Spool insulator,1, 3/4"or3"dia groove
¢ B 6/7/8 03 Bolt, m/c, 5/8" @ x required length ek B 50/138 03 |Locknuts, 5/8" bolt size
d B 46 01 Washer, square, 274"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/ 11 KV PRIMARY, 1-PHASE DOUBLE PRIMARY SUPPORT
MAX. TRANSVERSE LOADING 500 LBS/PIN ( 0° TO 30° MAX. ANGLE)
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BRER Board 6 A2A
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




SEE NOTE § 2

Asst. Secy. (B

I

-
‘{' |\
%j

g
(Kamru] A%M\o]ﬁk)
card), BREB,

1,._&%;;{&“1@] (Md. Duhidul Islam) SELCTION X - X (Md. M ammel Hug,

o~ A lhams TADD MRET Consuitant TADD ARE! Onsultant TAPP BRER

NOTES

1 SEE DRAWING M41—10 FOR INSTALLATION DETAILS OF ANGLE ASSEMBLY & SUSPENSION CLAMP
2. ROTATE EYE BOLT ACCORDING TO TYPE OF SUSPENSION CLAMP
SO THAT CLAMP WILL SE€ HORIZONTAL

ITEM [ CODE [ Qty. MATERIAL ITEM] CODE Qty. MATERIAL
d B 46 02 Washer, square, 24" bo B 55 01  |Shackle, Anchor
K C1o 02 Insulator, suspension cm C 32 01 ISpool insulator,1, 3/4"or3"dia groove
0 B 18-20 02 Bolt, eye, 5/8"¢ x required length ek B 50/138 02  |Locknuts, 5/8" bolt size
m B 82/83/84 01 Clamp, suspension
s B 73 01 Clevis, secondary, swinging

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 635/ 11 KV PRIMARY, 1-PHASE 30° TO 60° ANGLE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 A3

Revision Dale: July 1980, June 1981, Angust ¥989, July 1995, August 2013, February 2020

s P
: REF ul Haque) < ChaKiaporty)
r‘.&m«l""‘“'ﬂmm h ( an:i%a\??- BREB (Debasish C REB.

Consllh PN TAPF




. I k / /Ptmﬁ

]
I
I
I
\/ l
I
|
I
I
|
[

I
|
I
|
I
| |
I
f
} ~
] I@ S
|
A

Nﬂ Duhidul Is
nnch
za me‘ i 6_4’ \ II gg
“ons nIIa ek-o~ bn :?g
- I___. 5
a
o~ SECTION X - X cg;}“
NOTE esé?
1 :mccﬂmh:tlc;cmmm this connection will be mode ;
e o Deg. W 45011 tee invioNotion deto pevasisiHAKRoTY
2. Rafer to Dwg. M 42-11 for installgtion detoils (“d Abdul Khal ) K { Y
for Pri nd Neutral ceadend bii Md sanulHaqlle) PD,TARPP B
Ry O L aaENTIIes “onsultant TAPP. % sxﬂtanLTAPP
ITEM| CODE __ |Qb. MATERIAL ITEM]| _CODE | Oty. MATERIAL
d B 46 04 _Washer, square, 2'4" ! B81/132/112 02 |Clamp, deadend
X C10 04 [nsulator, suspension bn B 85/86 04 [Clamp, loop deadend
0 B 18-20 04 Bolt, eye, 5/8"¢ x required length ek B 50 04 |Locknuts, 5/8" bolt size
p 15/16 - Connectors, as required aq - - Tumpers, as required
5 B73 02 Clevis, secondary, swinging cm C 32 02 |Spool insulator,[, 3/4"or3"dia groove
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: §.35/ 11 KV PRIMARY, 1-PHASE 60° TO 90° ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 A4
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




|
e o o
E o—d—ek ‘ | I
o)t
\JJ | | /
—<— (= | i
2 1] o | )
© | [ \k o=d—ek 4. / Ig
’,L. ] | \\ \ 'Ig:
* | | ; : =
. W S S| - LA |
i 25 1 / Mo E
| Position of Guy | g Guy . f S
)
| -
il ¢
! | Lo x PLAN Ei
o I ' N s 2
[ | s ' bn o—d—ek By 7
e Neutral 5
—~ ) = i — g8 "2
‘ ] cm bn
= ]
I
N e
||]l SEDTION R=% A5
4 8
- | b | Sk A
B (T
] AR s
2" | [ S E SECTION X=X
.E;E s W gz for ASA
& 4
. 1 ’ 2
* INCREASE TO 6'-3" FOR TRANSFORMER INSTALLATION £ J . gm'
AOTE - SECTION X-X |34
i. See Dwg M 42-11 for deadend details. for AS5B gg
/2. Neutral deadend, use A5 - i
-4 3. Neutral continuous in line, use ASA ; §"
4. MNeutral continuous as angle, use ASB #/ chaks fty) %]
“Abdul Khaleque) Ahsanul Hague) Depasish & o
(‘,Qnds?ﬂgnt.TAPP. BRER éﬁ”mﬂgum’. BREB PD,TAPP; B%A ]
ITEM | CODE | NO MATERIAL ITEM| CODE _INO. MATERIAL
d B46/118| 2 | Washer, square, 2-1/4" s B73 1_ 1 Clevis, Secondary, Swinging
k C10 2 | Insulator, suspension bn |B&S5/86 | 2 | Clamp, Loop deadend
o _{B18/19/20) 2 | Bolt, eye, 5/8" x required length |cm | C3/2 1 | Spool Insulator,
bs [B33/34/35| 1 | Bolt, single upset, if required 1-3/4" or 3" dia groove
| | B81/1322] 1 | Clamp, deadend ek | B30 2 | Locknuts, 5/8" bolt size
da B72 1 | Brocket, secondary, if required
BANGLADESII RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV PRIMARY, 1—-PHASE DEADEND (SINGLE)

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BRERB Board

6

A5, ASA, A5B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




(Md. M¥zibur Rahman)
ﬂn‘;ultam TAPP BREY

'

(Md. Duhidul Islam)
Consuitant TAPP BRF!

p {note 6)

(Md.

ozammel Hug)

<ansultant TAPP RRET

aq

(Note 8)

ag

ek—o0
__Top | /_
5 I s
W\ ]
: <o || k |
o I
Tl | | |
s ! .
| _~] ™\ Position of Guy - (\ o e
P | L Position of Guy & ,.g
i : i o" T
Lo ~ c
o _q.._..g{ | | 4 =
5 L F NS
t D)
ek—o~d : ek—c—d r (S cm bn }
i: | i
o I
! | | | 5
L] AS-1 1 L A5=2
e ]! €
= Qe — 5 ¢
; (Md. Abdul Khaleque) e
= Consultant TAPR BRER g
1. See guide drawings M29-1 and M29-2.
2. AS—1 assembly may be used with drawings such as: A1, Al—1.
3. A5-2 ossembly meoy be used with drcwmgs such as: C1 Ci=d, (Md. (Debasiar Chakrabortty,
J-\ 4 Specify A5—2A for tap of existing eyebolts.A” bOlISUlt&HLTAPP BREB PD.TAPP BRER
5. See Dwg M42-11 for ceadena assembly details. y '
© B. At certain locations this will be maode with -
a hot line clomp. ASSEMBLY UNIT
AS—1 AS—2 ] AS—2A
TEM i MATERIAL MATERIAL CODE NO NO. NO.
d _|Washer, square, 2-1/4" B46/118 2 2
k Insulator, suspension C10 2 2 2
o [Bolt, eye, 5/8" x required length B18/19/20 2 3 1
p __|Connectors ; 15/6 as _required os required as required
aa |Nut, eye, 5/8" g=53 1 3
ag  |Juirpers as required as required as required
bn_[Clamp, Loop degdend 885/86 ) 2 2
cm |Spool Insulator,1-3/4" or 3" dia.qroove C3/2 1 1 1
bo |Shackle, anchor B5S 1 1
ek [Locknuts B50) as required as required as required
| Clamp, deadend Ba1 1 1 1
s Clevis, Secondary, Swinging B73 1 1 1

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

B.55/11

KV PRIMARY SINGLE PHASE TAP

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

A5-1, A5-2, A5-2A

Revision Date: Tuly 1980,

June 1981, August 1989, July 1995, August 2013, February 2020




I 1Tian
\[u{(\!."l\‘m il
\ ¢« TAPP BREB

‘onsultan

,/ ,/
X
p(Note 5) PLAN
0g
N
,—-L
I
P~
£ f
| a0—ek
<

bn cm—s ao

!
1
. |
] |
|
a
|

'1““"‘"‘?4

|L
I

o |
NDTES F B Cn“quh'mf TAPD R Fp
k#mA5-3 assembly rna be used with drawings
such as @ A4, C4&
2. AS~4 qssembly may be used with A3, AS, .
C7,. C3 and C5 structures. 5

(Md ozammel Hug, —
“onsultant TAPP RRF.

(Md Uudn Islam)

Consuitant TAPP RREF

Dotted jumpers for use
on tangent structures

Position
of Guy
aa

Neutral top \ ’
r aportty)
Jepasish C rapo
- Y
,Aﬁ;e} | oD, TA %}

3 nsu\mLT}\PP BREB L -1"3 AS-4

See guide drowings M29—1 & M29-2.

See DWG M42-11 for deadend assembly details.

Al certain locotions this connection will be
with o hot line clomp.

ITEM | CODE MATERIAL Qty.(A5-3) Qty.(A5-4)
a 1 Insulator, pin type 01
b B2 Pin, Pole lop, 20 - 01
[ B 6/7/8 Bolt, Machine, 5/8" x required length - 02
d B 46 Washer, square, 24" - 02
k C 10 Insulator, suspension 02 02
P 15/16 Connectors as required as required
2a B5) Nut, eye, 5/8"¢ x required Tength 02 02
89 B73 Jumpers as required as required
bn B 85/86 Clamp, loop deadend 02 02
cm Cin Spool insulator, 1, 3/4"or 3"dia groove 01 0l
| B 81/112/132/133 | Clamp, deadend 01 01
S B 73 Clevis, secondary, swinging 0l 01
ek B 50 Locknuts, 5/8" bolt size as required us
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/ 11 KV PRIMARY SINGLE PHASE TAP
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BRCDB BREDB Board ( AS-B’ A5_4

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




SOURCE

Asst. Secy. (Board),

PRGN
[N
. e
i 1 T REl :
e I 0
i ‘;“_{ 0 | s
— @
5 T
i = R
i : j
S I
z | 1
. o ¥ i
o . ! | |
2l Position of Guy M |
-+
| | Position of Neutral
| when not deadend
| | i
L
s o B - —
_m-(g—@qq‘-r:m:v— + | AP~
cm —" i i
i | —
§§’ | aa—d—ek
»a | A\
EES P s=em
S aq L o
9w " |
g o
B35 e
=g o
C R
o—d | 2
U !
o [gh - S SR
%&r_ E& 4 ‘ T _D 24
28 Ex ————*(:Q—@—— I s o o e
= &
= o
5% =8 .
=£ j 2
& €
SECTION X — X ‘}é
d. Abdul Khaleque)
NOTE cgiﬂmnvmnn %EB E
o
\f 1. AB may be used with drawings such as M 3-4. (Md. Ahsanul Haque, g
3 , s Consultant TAPP, BREB
Z..5ee Dwg. M 42-11 for deadend assembly detoils
/3. At certain locations this connection will be made with a hot line clamp. ‘Nebasish Zhakl rty)
4. Add M 5-2 as required D, TAPP, BREB.
ITEM CODE NO. MATERIAL ITEM CODE NC. MATERIAL
d [B46/118| 4 |Washer, square, 2 1/4" aa B53 2 |Nut, eye, 5/8"
k cilo 4 Insulator, suspension s B73 2 Clewis, seconaary, >winging
| B81/132] 2 Clamp, decdenq ek B50 Locknuts, as_required
o B18-20[ 2 |Bolt, eye, 5/8" x reqd length
p 15/6 Conectors as required
bn B85/86 | 4 |Clomp, Loop deadend
em | C3/2 2 | Spool Insulator, 1 3/4" or 3" dia
groove

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 1-PHASE VERTICAL, DOUBLE DEADEND

Date of Origin

Reviewed by

Approved by Revision No, Unit Designation

July 1979

BREB

BREB Board 6

AB

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




‘™

_7/"\
r/“\}
H o)

k

| i
Position of G ; | e JL s J‘-\ ” "9
osiuon © uy - il = ¥,
| L t = l s
/ f | /E Z { \ HFJ L‘f
. | &
(l\ﬂd-"-\’mi}@?gm}' A : i b | / rﬁv
Consultan! ** I ~1 ~ - - - .8
: | . 1 ]
I | ™~ L?J NN
{Md. Duhidul islam, I | \ cm/
consuitant. TAPP BRE | aa |
] 4
27 : | y 5 l
| @
v 4l T maw e A
A tmeuitant
onsult | Neutral s
l
WL’O d1 — Between arms for A7-1
ue ]
{MdAbﬂ\ﬂﬂé}%lg R ‘ d1 d gl di ‘
Consultant TA / \ / L |
lﬁH ¢ IEL‘ A=
DEADEND REQUIREMENTS / \ \| ;
Conductors Assemblies ' = = el o L2
|
243 A7 L‘F o R
| T
Jf e
2 # 1/0 At r(gl:&‘ *\ ! ) = & }:'T
= { T o
1§ 1/0 & 1 # 3 | A7 | | I !
| i
L7 I T )
|2 # 40 A7 & E5—1 ¥ . }'ﬁ
N, —~——— g |
4'1 # 4/0 & 1 # 1/0 A7 & E5-1 K : OG/F\I
e n—d—ek
! R ' / ]d]
NOTE s ///
See Drawing M42-11 for i écm e
deadend assembly details. Nﬁwﬂ?‘% : PLAN A7—1 | Aﬁ’
ant TA | . bn
ITEM| CODE [NO - MATERIAL ITEM] CODE |NO. MATERIAL
d B46/118/10 | Washer, squore, 2 1/47 i 18817132 [T | Clamp. deadend i a2
d1B46/118[ 3 |Washer, square, 2 1/4" (A7-1) n_B26/27/283 | Bolt, double arming, 5/8" x reqd length
q ;”1 2 |Crossarm, 3 1;2" X 4/1/2" 3? 8'—(;" s 673 1_| Clevis, seco;ndcrv. swinging
gl = 1 |Crossarm, 3 1/2"x4 1/2"x8 (A7-1)| aa | 853 2 | Nut,_ eye, 5/8"
i | B=32 [ 4 |Bolt, carriage, 3}1/8" x_4 122 bn | B8s/86 [2 | Clamp, loop deadenc
i | B=40 [ 2 |Screw, lag, 1/2 x 4 cem| €3/2 |1 | Spool isulator, 1 3/4" or 3" dia groove
k | ¢-10 | 2 |Insulator, suspension Cu | B41dr1i44 | 4 | Brace, Steel/ Wood, 28"x 1/4™
ek [ B-02 12 1locknut 378 Dolt size eK B850 U TLocknuls, 5/8 bolt size

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV 1-PHASE WOODEN CROSSARM CONSTRUCTION- SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

Tuly 1979

BREB

BREB Board

A7, A7-1

Reviginn Dater

Tnlv 1980 Tune 1081

Anonst 1989 Tulv 1995 Anonst 2013 Fehruarv 2020

wife Paig 2 Y3900

YD G (919 TSR SN




TOP VIEW

bn

|
|
1524 (5
- 762 (2-6") — r—j—= 762 (2-6") -
== is206m 2 i I | ! T 152067 | 220
| 29 (9" i Neu
= e | g Vel
} %—‘ = T\m_ 1 ; \
P B e, o
& : |
aa-k-! i " g
|
'... o
|
|
|

Position of Guy —/

c-d-ek

|
|
Ahmar) Md. Dumiaul Isiar) ' | |
wﬁim/‘tm RRFY  Consuitant TAPD AR B
-, n‘n |
} i : DEADEND REQUIREMENTS
e o Conductors Assemblies
£ & 2#3 AT
I {
(mﬁnu Hug) [ { 2#1/0 A7
~ansultant TAPP RRFF @ - 2#4/0 AT&EI-2
: 1#4/0 & 1#1/0] A7&EI-1
| Notes :-

Md Abdul Khale%)

oo «e holes at both end should be 11/16"
VR ¥ (‘nmultﬂ"“ TAPP B

' 2. Penguin conductor can be used for 300 R.S

VR O QI eI Sl 79 Frar w1 39400

3. See drawing M42-11 for deadend assembly details. =
4. See drawing E5-1 for crossarm loading limitation, Aé/ M 5, : MoﬁkZB
. Normally Bolts will i Krapo d), BRES:
T s ey e g b, o SO s
p Y appro Y shall be made. ‘_ms\\'ltnﬂLTAP ; oD

ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
d B 46/118 01 Washar, square, 2 4" cu B41/41.1/44 04 |Brace, Steel! Wood, 28" x 1/4"
2 X-6 02 Crossarm, steel, 4" x 2" x 2" x 14" x 5'-0" n B 26/27/28 03 [Bolt,double arming,5/8"x req'd length.
c B 6/7/8 01 Bolt Machine 5/8" ] B73 01 _ |Clevis, secondary, swinging
k c10 02 Insulator, suspension aa B 53 02 |Nut, eye, 5/4"
I B 81 0] Clam, Tension or Deadend bn B 85/86 02 e lamp, loop deadend
¢ 3 04 Bolt, MIC 1/2"g xI4"_ cm Cc3n2 01 [Spool insulator, 1, 3/4"or3"dia groove
ek B 50 15 Locknuts, 5/8" bolt size
jlc B40/B4/4.1-4.3 01 Screw Lag / Bolt M/C, 1/2"x 6"- 12"

BANGLADESH RURAL ELECTRIFICATION BOARD
6.35/11 KV 1-PHASE STEEL CROSSARM (X6) CONSTRUCTION-SINGLE DEADEND

Unit Description:

Date of Origin Reviewed by Approved by Revision No. Unit Designation

ATA
July 1995, August 2013, February 2020

July 1979 BREB BREB Board 6

Revision Date: July 1980, June 1981, August 1989,




Position M Guy -
When required

I Fri" !..,._ 36" ! 3-8" !| &G
= | |
] |
; 5 f'ti"/',.- } o l— J:_ -!. %
| {t‘—l 1/ -1 R
{71/ o i~ ?
. . N
) L%
T : L I {
> B
g | |
I —— P R SRS . ....,J).‘: i ' I
el e

NOTES

Guy wewsog

o

1 For angle applications install shackle between eyvenut & insulator & eyenut & clevis.
2 See DWGC M42-11 for deadend assembly details.
‘EM| CODE {NO MATERIAL ITEM| CODE [NO MATERIAL
a C1 2_|Insulator. Pin Type cu_| B41/41.1/44 | 4 [ Brace, Steel/ Wood, 28" x 1/4"
d | B46/118 | 10 | Washer, Square, 2-1/4"x 2-1/4" i B32 /B3 Bolt, Carriage/ Bolt mv, 1275 11737
i B1 2 | Pin, Crossarm, 5/8"x10-3/4" i |Ba0/B4/B4.1-4.3] 2 | Screw, Lag, 1/27"x 4" /Bolt M/C, 172"x as red
g Xi 2 |Crossarm, 3-1/2"x 4-1/2x 8'-0"". ek S0/138 Lock Nuts, as, as required
k C10 4 | Insulator, Suspension Type i B B26/27/28 | 3 |Bolt, Double Arming -
I [B8L/132 | 2 | Clamp, Deadend bn B85/B86 4 | Clamp, Loop Deadend
a | B53 4 Nut, Eye §/8" Dia ¢m C2/3 2 | Insulator, Loop deadend, 1-3/4"/3"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/11 KV PRIMARY, 1-PHASE CROSSARM CONSTRUCTION DOUBLE DEADEND

Date ol Origin

Reviewed by

Approved by

Revision No,

Enit Designation

July 1979

BRER

BREB Board

6

A8

evision Date: July 1980, June 1981, August 1989, Tuly 1995, August 2013, February 2020

d. Ahsanul Haque)

M

(

(Md. Mozibur Rahman)

PP BRER

—— Consultant TA!

o
o
e
=
e
=

s

o

“pnsult

Md”Abdul Khal
I’frgncu!\‘ant T’JT‘Aﬂ\PT-" %quI}P



cm

=4
i | ]
TOP VIEW dw ég
|
7S mr%qm
(B W L8 HOR A{GITTE PRIPHTSAR00!

~ |
|
|
|
1524 (5')
762 (2'-6") il e ) 762 (2-5")
76 (3") fatons 76 (3" I ] 76 (3" 182 16"y 76 (3")
Snad n 229 (9") : ' : Neutral
m,‘ | | 483 (1-7") (3
[l 1 I ] N
pansrlins WEETRIY _ g e s 1 e g S - ) -
ORS o 2R P
; | \_ .
k . 33
1 —* IF
[}
................. R [P g%
| =
ws | L 2 E
Position of Guy £ b
when required " %E
Note :- | ¥
1_Brace holes at both end should be 11/16"p I Sk ﬁi i
I iguin conductor can be used for 300’ R.S I i £ g—“&
3. ror angle application install shackle anchor between eye nut and : l : b Y “{_Ji‘ o I«
insulator and eye nut & clevis secondary. | 1 | ‘___‘E—} = : 2 9‘3;
4, See drawing M42-11 for deadend assembly details. [ I | S5 £ g =
5. Normally Bolts will be used to fix the hardwares. If not possible e o 28 =
i j o s i
use of G I Clamps (duly approved by BREB) shall be made. i S 8 = <=
. Be ) i L, © — )
6. Screw lag is required when the unit is installed on wooden pole. 1o ! e = s
L“"O )
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE [ Qty. MATERIAL
a Ll 2 Insulator, Pin type ' cu B41/41.1/44 4 Brace. Steel / Wood. 28"x1/4"
d B 46/118 I Washar,square, 2 1/4" ¢ 133 4 Bolt, M/C, 12"x1-1/2"
f Bl 2 Pin, crossarm, steel, 5/4" x 5 3/4" cm C2/3 7 Insulator, spool type, 1-3/4"/3"
g X6 2 Crossarm, steel, 4" x 2" x 2" x &' x 5'-0" ek B 50 15 | Locknuts, as required 5/8"g
Kk Clo 4 Insulator, Suspension 1 B 81/132/133 2 Clamp, Deadend
ag L Bs 4 Nut, eye 5/8" Dia bn B 85/86 4 Clamp, loop deadend
¢ B4/B4.1 - 4.3 1 Bolt, M/C, 1/2"x 6" - 12" n B 26-28 3 Bolt, Double arming
i B40 2 Screw, lag(for wood pole only)
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/11 KV 1-PHASE STEEL CROSSARM CONSTRUCTION DOUBLE DEADEND
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 AS8A

Revision Date: July 1980, Junc 1981, August 1989, July 1995, August 2013, February 2020




4" - 3'-8" 8 e _ {47
a\ Neutral J a
—— i
R ¥ K : |
; l e l /
f j o R ' f
e ¥ et <‘\r\ / = || l
il e e

cu )
Position of Guy =3
‘When required %
3!
PP
2%
- =
ERAN =
| -3
o8 '
o~ ag‘
el
=0
(s
o
a
Neutral =
&
o]
=
w
£
Y
£
80
wao
= _§:2
| o=
C‘
AL
=
L
~ 5 i S
‘\ n-—-d—ek ; 5%
b AN ’ =8
NOTE : :EF—-
I NE
# 4/0-0° to 10° - above 10° use A3 const. S
# ‘I/O»-O0 to 20° — above 20° use A3 const. gg
]
# 3 ACSR = 0° to 30° o
TEM | _CODE _INO MATERIAL ITEM|_CODE  hol MATERIAL
a s 4 | Insulglor, pin type cu |B41/41.1/44 14 |Brace. Steel x Wood, 28" x1/4"
d |B46/118|10 | Washer, sq. 2 1/4" = i | B32 4 |Bolt, carriage
f 1Bl | 4 | Pin, crossarm, steel, 5/8" x 10 3/4"1 | | Ba0 2 IScrew,lag, vx4" (for wood pole any)
g3 DX | 2 | Crossarm, 3 1/2 x 4 172" x 8 -0 | ek | B50 Locknuls, as required
¢ [ B4/B4.1-43 1 1 Bolt, machine, 1/2"x 6"x 12" N Bl 5 1Bolt double arming 5/8 xreq'd ierqth

BANGLADESH RURAL ELECTRIFICATION BOARD

6.35/11 KV PRIMARY, [-PHASE WOODEN CROSSARM CONSTRUCTION- DOUBLE LINE ARM,
0 TO 30 ANGLE MAX

Unit Deseription:

Revision No.

Unit Designation

Date of Origin

Reviewed by

Approved by

July 1979

BRER

BREB Board

6

A9

Revieron Date: Talv 1980

Tine 1981

Anonet 1989 Talv 1995 Anonst 2013

Fehrnarv 2020




Neutral

.

. i

g
A,

T

I
@
!

I
l

(Kamrul Ahsan Moftik)

Asst. Secy. (Board), BREB.

|
I I
' ‘ ul Hagque)
5 I | | “anayltant TAPP RRER ,mmiﬁﬁ-‘,\w BREB
& I i
b~ G |
| & 4
' v | M&f" )
Md. Duhidul Islam . \Ma. Myzamrmiel Hug)
(vid \Ium)r Co;{‘!suﬂa?'lt TAPP n{-‘a}i:r ' | I onsultant TAPP BRFP ,nebag\shc |
SR, [ EE I Fl OD.TA?P
MATERIAL | MATERIAL
ITEM | CODE _|NOQ MATERIAL ITEM | CODE NO MATERIAL
Q Cl 2| Insulotor, pin type cu | BavdL1ad4 | 2 | Brace, Steel/ Wood, 28" x 1/4"
c |86/7/8 | 1| Bolt, machine, 5/8" x required length | i B32 2 | Bolt, Carriage
f 81 2 | Pin, crossarm, steel, 5/8" x 10 3/4" i B40 1 | Screw,laq (for wood pole only)
q ' 1 Crossarm, & 1/2 x 4 1/2" x 8-0" ek [B50/158 Locknuts, as required
¢ B4/B41-43 | 1 | BoltM/C,12"x6" - 12" d B46 2 | Washer, square 2—1/4"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV PRIMARY, 1-PHASE WOODEN CROSSARM CONSTRUCTION, SINGLE LINE ARM
Tangent
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 Ag-“]

Revision Date: July 1980. June 1981. August 1989. Julv 1995. August 2013. February 2020




TOP VIEW

1524 (5') Neutral—
e 762 (2'-6") i [_}__, 762 (2-6") 7430 1\ 76(3")
8 [tsz e 220 g 1 26N L——
c-d-ek Aol 4]
ag3r- PR O ! 483(1-7")
~ i i
— e I u I:
_____________________ b .t.-_tﬂ,_.,t.._____ s T ___.,...:;;’f __..._._Q_,A..h__, s
Lf S
] e
[
i O
| | 00"
B o
ol -
s ?ﬁ“@
: ; ™
, @%ﬁﬁ
: ‘ | c-d-ek Cé &f @S\"
I <A &
| )
[ 4 | P ‘“56\
I | I -
I (”E:Q’
| T
Note :- I I |
1. Brace holess at both end should be 11/16"p I i |
2. Penguin conductor can be used for 300 R.S - (Debasish C itty)
3. Normally Bolts will be used to fix the hardwares. If not possible < oD TAPP BREE.
# use of G I Clamps (duly approved by BREB) shall be made.
) Front View W" ,74”7
Rahman Consultant TAPP RRET LN
(Md. ;\-ioﬁ Rahman) {Md. Duhidul Islam) (Md. Mozammel Hug) AESRRIATR B
Tapanttan Consuitant TAPP RREr  Jonsultant TAPP BRET
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT.CODE | Qty| MATERIAL
a Cl 02 _Insulator, Pin type cu B41/41.1/44 02 Brace, Steel/ Wood. 28" x 1/4"
B 6/7/8 02 Bolt, machine, 5/4" x required length c B3 02 | Boit,m/c 1/2"x1-172"
f Bl 02 Pin, crossarm, steel, 5/4" x 5%" ek B 50 04 | Locknut, 5/8"¢
g X6 01 Crossarm, steel, 4" x 2" x 2" x '4' x 5-0" ] B4l 01 Screw, Lag (for wood pole only)
e B4/B4.1-4.3 01 Bolt M/C, 1/2"x 6"- 12" d B46/118 02 Washer, Square, 2-1/4"x 2-1/4"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV 1-PHASE STEEL CROSSARM CONSTRUCTION- SINGLE SUPPORT TANGENT

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

94A

Revision Date: July 1980. June 1981, August 1989, July 1995, August 2013, February 2020




Neutral

Neutral
1524 (5
e 1 762 (2-6") \
i 762 (2"6"] —_ '—-—::—4-! -1 2" e ?ﬁ'ﬂ“l", ?6{3")
76(3") 152 (6") TH(37] I | i | e
n-ek AL
T b 4 | 483(1-7") el
y ]
T \ I‘I
.............. :‘ﬁ._ ._...,,g.__h.........,__._.
4 2o
\_ \—8 o :
c
g N
\')‘. %\
Position of Guy —— o %‘;}bﬂgg’ '
hen ired P e
when require g
I @@é’ o
I . “ o
] 1 | c bﬁ?
I opo v
I qd |
Khaleque) R -
- (M Abdu R A RER ibur Rahman) __ (Md. Duhidul Islamy nmelHlE
Consﬂhﬁﬁtfr’\? f } || Qﬂi,ﬁ{"ﬁ“i“fm nm:)r“- Consuitant TAPP mgp . zaﬂﬂgﬁ'@ér
| |
1 l |

wlo

Note :- Maximum Line Angle Consultant TAPP B

1.4/0 0° to 10° -Above 10° Use A3 Construction

2. 1/0 0° to 20° -Above 20° Use A3 Construction

3. JACSR 0°to 30°

4. Normally Bolts will be used to fix the hardwares. 1t not possible
use of G 1 Clamps (duly approved by BREB) shall be made.

Note :-

Brace holes at both end should be 11/16™p
Penguin conductor can be used for 300' R.S

ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
a Cl 04 Insulator, Pin type cu B41/41.1/44 04 |Brace, Steel/lWood, 28" x /4"
c B4/B4.1-4.3 01 Bolt, machine, 1/2"x 6"- 12" c B3 04 [ Bolt, mlc 1/2"x 14"
f Bl 04 Pin, crossarm, steel, 5/4" x 5%" ek B50/ 138 15 | Locknuts, as required
g X6 02 Crossarm, steel, 4" x 2" x 2" x W' x §-0" n B26-28 03 |Bolt,double arming 5/8" xreqd length|
i B40 02 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:
MAX ANGLE 0° T0 30°

6.35/11 KV 1-PHASE STEEL CROSSARM CONSTRUCTION-DOUBLE SUPPORT

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

BREB BRERB Board ¢

July 1979

A9A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Rahman)
Md. W RRER

1
Consuffant TAP

NOTE :

<«

(Md. Duhidul Islam)
Consuitant TAPP RRF'

— — — — — — —

2'=0"

(Md-Moxamme| Hug)

‘onsulftant TAPP RRE

S N . S — T — W o | —

JUNCTION AT

¥

At certain locations this connection will
be made with a hot line clamp.

(Kariwul Asan Mo
Secy. (Board),

Asst

2. Intersection angle may vary.
3. Screw lag is required when the unit is installed on M?JW/ ) Hadue)
ul Khaleque) :
wooden pole only | 2 nsﬂmEp AtMﬂ!m‘_mP.BnEB ..
ITEM | CODE [NC MATERIAL ITEM | CODE [NO. MATERIAL
q C1 3 Insulagtor. pin type cu B41/41.1/44| 2 Brace, Steel/ Wood, 28"x1/4"
d _[B46/118] 5 | Washer, sq. 2 1/4" i B32 2 |Bolt,carriaqge
f |[B1 2 | Pin, crossarm, steel, 5/8" x 10 3/4"| B40 1 |Screw,laq (for wood pole only)
q [X 2 | Crossarm, 5 1/2" x 4 1/2" x 8-0 ek [ B52 Locknuts, as required
b [B2 1 | Pin pole top, 20 bs B33/34/35 1_|Boit, single upset
c |B6/7/8 | 3 | Blolt machine, 5/8 xreq'd length cm | C3/2 1 |Spool Insulotor,1—=3/4" 3" dia_groove
¢ |B4/B4.1-4.3] 1 Bolt, machine, 1/2"x 6"-12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY. 1-PHASE WOODEN CROSSARM CONSTRUCTION, JUNCTION AT 0 © TO 5% ANGLE

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRER

BRER Board

6

A22

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




cm Neutral

o
o
b I' l 102 (4*) g g E—
T 32 E
[ |
I | I 203 (8" _g E
| | =&
b EF
—--q:‘ ;u&-— g I.
g | | = {
] 3
| | 838 (29"
| 1 | '
) I |
1524 (5) : | 1 E .
) 762 (2-6") o W2TEY) g 1w 2609 ‘%
76(3") 152kemy 000 I [ | __-j\]\s: T el X |
I |
-d i
i j 483(1-7") - = ;%
T F ]
{
i
|
| 1
|
[
|
‘ 1 610(2)
I
nIKhﬂl ue) (o
;s AL —u
o sltant TAPP. BRE | | So
- v
I o0
tM \ | | E o
Consul | | | £ ;_«f
e 15, 4 ———— — (I
I Ascertain locations this connection will be made with a hot line clamp. || i : g’_ g
2 section angle may vary. | | Jur Rahman) {Md. Duhidy |
3. Penguin conductor can be used for 300' R S. | I | .gﬁqt’yﬁl"r ADD MRET ~onsuyitant -*r._n.—SH?Tj'
4. Brace holes at both end should be 11/16"p | |
5. Normally Bolts will be used to fix the hardwares. [f not possible !
use of G [ Clamps (duly approved by BREB) shall be made. | AT OY TO 5% ANGLE
6. Screw lag is required when the unit is installed on wooden pole ¥nly, )
(Denas'sh Cha
PD,TAPP.
ITEM | CODE |Qty. MATERIAL ITEM| CODE Qty _MATERIAL
a Cl <1 Insulator, Pin type cu B41/41.1/44 2 Brace. Steel/Wood. 28"x1/4'
d B46/118 5 Washar,square, 2_1/4" c B3 2 Bolt, Carriage / Bolt, m/c, 1/2"x1-1/2"
f Bl 2 Pin, crossarm, steel, 5/4" x 5 3/4" ;k B50/ 138 7 Ié.ocknuu,ss required
8 $E 1 Crossarm, steel, 4" x 2" x 2" x 4’ x 5'-0" a B72 1 racket, secondary
b B2 1 Pin, pole top, 207 cm cin | Spool insulator,1-3/4" 03" dia groove =]
9 e i Bolt, machine, 5/4" x req'd length i B40 1 Screw, lag (for wood pole only)
¢ B4/B4/1-43 | 1 Bolt M/C, 1/2"x 6"- 12" L

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV 1-PHASE STEEL CROSSARM CONSTRUCTION- Junction AT 0 To 5

Date of Origin

Reviewed by Approved by Revision No.

Unit Designation

July 1979

BREB BREB Board 6

A22A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




-

v yur Rabmad) (Md. Duhidul Islam) "
Monbel on RRF! tant TAPP BRF! Md. Mozammel Hug) L
Apnsultant TAPP Consuitant T RF J .r(msultam el ) " " \
i
gi__,_-’:ﬂfr ol =
¢ 7\ S0
™~ -l c
POLE TOP PIN ASSEMBLY
4" 3'_8" 3’—8“ 411

N
@

~ T

|
[
I
Q |
I |
I i
q’ |
| I | E
l l |
| -
1 =
I | I | S
W | | i 2
N6 Khwleque) | | I g
~ Cnnmﬁmﬁhwm I | o€ mu'l% l | 2
NOTE: : tDﬁ"’“‘:APP;B' : = . é
1. Screw lag is required when the unit is D,
installed on wooden pole only B T @ WESW wm‘_\" 17(?3:[\5 H2 5990b
I CODE NQ MATERIAL IT CODE NO MATERIAL
a il 3 | Insulator, pin type cu B41/41.1/44 | 2 | Brace, Steel x Wood, 28" x 1/4"
b B2 1 | Pin, pole top, 20" i i B32 2 | Bolt, Carriage, 3/8"x 4-112"
-} B6/7/8 & |'Bolt, mcchinLﬁfﬂ‘ﬁqd length c B4/B4.1-4.3 | 1| Bolt. M/C. 172" x req d lengii
d 846 S | Washer, sq. 2 1/4 ] 1 bs | B33-35 11| Bolt, single upset
f 81 2 | Pin, crossarm, sleel, 5/8" x 10 3/4 cm | C3 1| Spool Insulator, 1 3/4" dia groove |
q X1 1| Crossarm, 3 1/2"x4 1/2"x8 -0’ ] B40 1| Screw, lag (for wood pole only)
ek 850 Locknuts, as required

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION, SINGLE PRIMARY SUPPORT, TANGENT

Date of Origin Reviewed by Approved by Revision No. Unit Designation

Tuly 1979 BRER BREB Board 6 i

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




— (Md. [ﬁ(sllstam) (M;gmei Hua)

E g_{b\lfwa?{lr ronsuitant TARD RRE Aansultant TARD REPET
Wid Yrant TAPP OV
Anneiia

% Secy. (Doard), BRER,

I
% -
o
i |
o~
I~
AOTE:
1. C1-1 unit uses at grade B crossings
2. Screw lag is required when the unit is ‘Md. Abdul Khaleque, | Haque)
s (i 2R _Ahsanu
installed on wooden pole only. Consu\tantTAPl’. %%F ‘Jé;\éﬁllﬁﬂ‘; 'APP, BREB
el gish
MATERIAL 'y TE
ITEM| CODE | NQ MATERIAL TEM CODE MO MATERIAL
g 101 6 | Insulator. pin type cu | B41/41.1/44 | 4 | Brace, Steel/ Wood, 28" x 1/4"
b 82 2 Pin, pole top, 20” i B2 - 4 Bolt, Carrvinge, 3/8"x 4-1/2"
c |B6/7/8 ] 2 Bolt, mochine S/B'Z'xreq'd length € B4/4.1-4.3 1 [ Boit, M/C, 1727 x 6= 127
d B46/118[ 11 "-:I‘osher, sq. 2 1/4 = —bs 1B33/34/351 1 [Bolt, single upset
f Bl 4 | Pin, crossarm, steel, 5/8” X 1C'J' 3/4" lcm | C3r2 1 _{Spool Insulotor, 1_3/4" dia_aroove
g 1x1 2 | Crossarm, 3 1/2 x4 1/2"x8 -0 n |B27/28 3 Bolt, double arming,5/8"xreq'd lenath
ek |B50/138 | 12 | Locknuts &/2" bolt size i B40 2| Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION

, DOUBLE PRIMARY SUPPORT, TANGENT

Date of Origin Reviewed by Approved by

Revision No. Jnit Designation

July 1979 BREB BREB Board

6 C1-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




s
f e !.._.‘l._. i |
R S—— e "‘,\_;_‘/“ i S |
\ L J(y) S
i
| o / \\Neutral n_{ ! |
g n-ek  TQP VIEW
2438 (8)
i
——— g
R | # WRamra! Agin
— A Moftik)
124y ] Asst Secy. (Board), BREB.
b
|s:5 (gu N r ] 152(6")
“ 6 (3%) 2 | 76 (3" 76 (3"
1067 (3-6") v il 1067 (3-6") —"—)‘\.\_6 .
| c-d-ek l__ s |

nﬁ%w

|
\

o

.

-\1 \;‘[GTI\C‘“T A" \;'\T)r

nnk\“"“ﬂ

(Md. Duhidul Islam)
ronsuitant TARPR RRF

3 HUO,
Md. Mozamme! Hug,
\})ﬂslmant TAPP RRFE

ue)
(M Abe‘“l %E‘I?IQRF

Consultart

Note :-

#™ace holes at both end should be 1171 6"¢
«._or 300" R.S with Penguin conductor.

3. For 300" R.S with Hawk conductor. !
4. Normally Bolts will be used to fix the hardwares. If not possible :

B B QAN TSR ST Fa W 39900

use of G I Clamps (duly approved by BREB) shall be made. \
5. Serew lag is required when the unit is installed on wooden pole only. XS _“W)
N ) a ®.
e e P
umaqge) °O
ITEM |MAT. CODE | Qty MATERIAL ConsWamt [y r e T GO DE Qty. MATERIAL
a Cl 3 | Insulator, Pin type, 11 kv cu B42/42.1/45 | Brace, Steel/ Wood, 60" Span
b B2 1| Pin, Pole top, 20" em cin ] Spool Insulator, 1% dia groove
< B 6/7/8 7 _| Bolt, Machine, 5/8" x Required length bs B33/34/35 1 Bolt, Songle upset, 5/8"x as req'd length
f B 1 2_| Pin, Crossarm, steel, 5/8" x 10%" d 46 5 Washer, sq. 14"
9 X7 I} Crossarm, steel channel 4" x 2" x 2" x %" x 8'-0"]] ek B 50 7 Locknuts 5/8"g
¢ B 1 Bolt, Carriage, 3/8" x 4-1/2"/ Bolt M/C, 1/2"x1-1/2"} ¢ B4/B4/4.1-4.3 3 Bolt, M/C1/2"x 6"- 12"
] B40 1 Screw, lag G

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION
SINGLE PRIMARY SUPPORT, TANGENT

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

CIlA

Revision Date: July 1980,

June 1981, August 1989, July 1995, August 2013, February 2020




1524 (5')

- z
S
JEas ririn 3
102(4") : : I 11
v i i 8
76(3") o o 763 |
—_— 76(3") :m,n/f( | 76(3") | |
\ZL [ 6102 A | i 610(2) [ | i ;
ks | | ; d-ek | |
1526 | c-d-ck "%_ L | 1saten st WA T
483 1-7") WT H83(1°-7") = (WI F]
6;5 [ 1SS | | i d,!:’:) T 1 .
T 1 i !
e e I et © S “%;"-:_“‘” Sy e L .._+ A VRN A TS kit L B R ’""B"‘; i R
| L {1 ol | I k

1
I & | |
R \ 0 o
| 1 9 ¢ l-ek .
| | s
610(2) | 457018 x cu _/ | | |
1 { c-d-ek i (=)
~— P O | o
! 1 F | "
b 4
I ! | i
__ J ‘ I >
i ! | | |
SO AN 5
! © | :
2
l ;
R
I | | E e g
i
;%
2]
Note :- -
1. P—ce holes at both end should be 11/16"¢ ' i
2. 200 R.S with Penguin conductor. (
3. For 150' R.S with Hawk conductor. %\/ an) - -
4. Normally Bolts will be used to fix the hardwares. If not possible (Mid-Mozibur f;ghffm (Md. Dunidul Islam) (Md. Mzamme Hug)
use of G | Clamps (duly approved by BREB) shall be made. Aansultant TAFE Consuitant TAPP BRF ‘nnsultant TAPP RpEF

5. Serew lag is required when the unit is installed on wooden pole

only, %/
. e) .
(vd. Ahsanul BRI enasish Chayfaporty
Md. uuchniqug)p {:ons'-\11*ﬂnﬂ“’‘1’1‘;'1';};[‘“{E PD,TAPP.BREB

bt TADD
ITEM |MAT. CODE[ Qty. MATERIAT " ITEM| MAT. CODE| Qty. MATERIAL
a Cl 3 insulator, Pin type, 11 kv cu B41/B41.1/B44 2 Brace, Steel/Wood, 28"x 1/4"
b B2 1 Pin, Pole top, 20" 2 B3 2 Bolt, Machine. 1/2"x I'A"
¢ B6/7/8 3 Bolt, Machine, 5/8" x Required length em cin | |Spool Insulator, 1’4" dia groove
d B46 3 Washer, sq. 4" bs B33/34/35 ] Bolt, single upset, 5/8"x req'd length|
f B1 2 Pin, Crossarm, steel, 5/8" x 10%" i B3 2 Bolt, machine, 1/2"x 1-1/2"
q X6 i Crossarm, steel channel 4" x 2° x 2" x ¥i" x 500 ¢ B4/B4.1-4.3 1 Bolt, machine, 1/2"x 6"- 12"
ek B50 7 Locknuts 5/8"¢ i B40 1 Screw, lag, (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:  6,35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM CONSTRUCTION- SINGLE PRIMARY SUPPORT

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BRI BREB Board 6 C1B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




C

WJ (Md. Mamj (M;ﬁn:nel Hug)

Ecq:é;h_\\ I
TP

POLE TOP PIN ASSEMBLY
4

’vld? aPP RREY  monciitant TAPE RRE Tonsultant TAPD RPE!
‘ansit
Qoo
mﬁﬁm‘ Fra We 59
S akanduaeca
4“ = 3‘ 8" - _— 3! 8“ -y
a
&
ol .
= I =
i |} %)
|

|
l
A % _
F § -
[fe}

o 5~

. <

(2]

|o
| i
o Position of Guy
" I Neutral
i
(Md. Abdul Khaleque)
tant TAPP. BREF  (Md. Ahsanul Hagque,
=i L Consultant TAPP. BRER o
NOTE-1 . MAXIMUM LINE ANGLES : Lj{-:j g,%‘
NOTE-2:
3 Q o o Q '
40 ALER: O.- T0 10 ABOVE 10% USE C3 CONSTRUCTION % rity) 1. Required number of B6/7/8 is 4, when pole is wooden
10ACSR: 0° 10 20° - ABOVE 20° USE C3 comsrmni;%@ggpa and 3 when pole is steel or SPC.
. 2.8 lag is ired when the unit is installed
#3ACSR: 0° 70 30° ~ ABOVE 30° USE C3 CONSTRUCTION o
MATERIAL MATERIAL
[TEM| CODE | NO MATERIAL ITEM | CODE NO MATERIAL
g |5 P 6 Insulator. pin_tvpe cy | B4141 1144 4 Brace, Steel/ Wood, 28" x 1/4"
b B§2 2 | Pin, pole top, 20" R 4 | Bolt Carriage, 3/8"x 4-1/2"
c |B6/7/8] 4 | Bolt, machine, 5/8 xreq’d length jfc_|B4id1-43 2 | Bolt, M/C, 12"x 6"- 12"
d B46 | 13 [ Washer, sq. 2 1/4" 1 dg 1B72 1_| Bracket, secondary
f B1 4 | Pin, crossarm, steel, 5/8" x 10 3/4 cm | C3/2 1| Spool. Insulater, 1 3/4" dig groove
q X1 2 | Crossarm, 3 1/2"x4 1/2"x8'-0" n_[B26-28 | 3 | Bolt, double arming,5/8"xreq’'d length
ek B50 Locknuts i i B40 3 | Screw, lag (for wood pole only)
ek EHo Locknuis 3/8" bolt size

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY . 3-PHASE WOODEN CROSSARM CONSTRUCTION, DOUBLE PRIMARY SUPPORT, MAXIMUM

TRANSVERSE LOADING 500 Ibs OD T 300 MAXIMUM ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 02
Revicion Nates Tudu 1980 Time 1981 Anmnet 1980 Tulv 1095 Anonad 2013 Fahrnaryv 20720




TS WIGHRY

Assk Secy. (Board), BREB,

1. The max. line ongle is
conductor sizes upto & including 4/0 ACSR

for

neutral may be

LA}:;!

c
J

S Position of Guy |
| v
(Md. Duhidul Islam) | |
Md. M ombmw Consultant TARD RRES |
'E'?nsuhan‘ TapP ARER | |
I l
I
l Khsleque) el
— ga, - —
NOTES
1

‘ -.i =1 1'=-7" 1'-5" ? e 8"
.l // /’ [/ //
| / £ /
‘ F 4 /
i 4 7
/l /_{ﬂl HEH /,/f‘-li}\
By —o @) —-F——-F:—06
] DERREN
—Hey—o (@)— F ~—1—0o
\o o h \ Y
\ \ \
\ \ \
| N \ ’\
| \\ \\ \\
6: 31 1'-5" 1'-5" ! 31"
P LAN
i P __r'!—-f n—d n—d
. 8 u N I
Ra STl

RN
(Mmj;'duqif J"\/i-\i

‘onsuftant TAPP ART ]

J

i

o
oy

C

|
¥

2. Center phase or
located on opposite side of pole where CLAMP TYPE
necessary to avoid crossing of conductor in mid spon. {DebasishChaklgmw CROSSARM FiiN
ITEM IMAT.CODE | NO MATERIAL, TEM ; MATERIAL
g |Cl 6 |Insulotor, pin type n_| B26/27/28 Bolt, double arming
c | Bo/B7/B8| 2 |Boif, mochine, 5/8" x required length ¢_| B6/7/8 1 [ 5/8" x req'd length
¢ | B4/B41-43] 8 [Bolt, machine, 1/2" x 6"- 12" cu_| B42/42.1/45] 2 | Brace, Steel/Wood. 60" Span
d_|B46/118 [19 |Washer 2-1/4"x2 1/4"x3/16", 3/16" hole| da | B72 1_| Brocket, Secondary
d | B48 4 |Washer, round, 1-3/8" dia. 9/16" hole ek | B50 Locknuts
g | X2 2 [Crossarm, 3-3/4 x4—-3/4 x10 -0 fq | B97 6 | Pin,crosscrm,steel clamp type
4 B40 3 Screw, Ing (for wood pole only) i B32 4 sit, Can  3/B"x 4-12"
em | C23 1 Insulator, spool type, 1-3/4" / 3"

BANGLADESH RURAL ELECTRIFICATION BOARD

45° MAXIMUM ANGLE

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE, WOODEN CROSSARM CONSTRUCTION, DOUBLE PRIMARY SUPPORT

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

C2-2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

T



243818

i' S r"a"'l

o2 LT

T

. | |
1526") [ 152(6")

o e ‘ 203489 ‘*Lh 763" 763"
e 1067 (3-6") | [ | 1067 (3-6") ...
I

r}-{;] il
i
:,1;‘,:

Position of Guy

Note ;- Maximum Line Angle

# For 477 MCM (° to 8° - Above 8° Use C3 Construction
# For 4/0 (° to 10° - Above 10° Use C3 Construction

c-ek-d

| |
| |
I | s -
# For 1/0 0° to 20° - Above 20° Use C3 Construction : ! ; EE‘ § %
# For 3ACSR 0° to 30° {13 G @ <
11 [ =8 F ;
b ke f_f 3 t 94
I <2 \ i
F il a8 S & | i f
[ = = E A 5| . I
o SF 3 | i r
! 2 . | ) |
| o LY |
| 4
Note :- o \E |
1. Brace holes &t both end should be 11/16%¢ =f So i3 :
2, For 300" R.8 with Penguin conductor, i EEE E'g \ E I
Aefor 300 R.S with Hawk conductor, | % Za ga ) —— ==
srmally Bolts will be used to fix the hardwares. If not possible g & R " _/ i
fGicl t 1 N ©daem ) |
use 0 amps (duly approved by BREB) shall be made. = o= | -
5. Serew lag is required when the unit is installed on wooden pole only. § E = = | | |
e g3 ok
W : 28 =5 o
( m’% ) |
Consiltant TAPP. BREB A/ Geh PPLE! 5
(Db e BR :
ITEM | MAT. CODE | _Qtygya[affsanul Haquay ATERTAL ITEM[MAT.CODE | Qty. MATERIAL
2 Cl wmgfmm. 55% cu_ | B42/42.1/45 2 |Brace, Steel /Wood 60" span
b B2 2 Pin, Pole top, 20" n B26-28 3 Bolt, Double amming, 5/8" x Required length
c B 6/7/8 4 Bolt, Machine, 5/8" x Required length da B72 1 Bracket, Second
d B 46 1 Washer, sq. 4" cm [ek17) I Spool Insulator, 174" dia groove
f Bl 4 Pin, Crossarm, steel, 5/8" x 104" ek R50/138 18 Locknuts, 5/8"p
q X7 2 Crossarm, steel 4" x 2" x 2" x 4" x 8'-0" 1 140 3 Screw, lag (for wood pole only)
C B4/4.1-4.3 5 Bolt, M/C, 1/2"x 6""- 12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION - DOUBLE PRIMARY
SUPPORT MAX. TRANSVERSE LOADING 500 Ibs/Pin 0° TO 30° MAX. ANGLE

Date of Origin Reviewed by

Approved by

Revision No.

Unit Designation

July 1979 BREB

BREB Board

6

C2A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




(Md.
Sonsu

Ol
- e
1524 (5 " Priig R 394
Qp
b | |
T T
|02‘u) : 1 | T |
= ? | ...MQHJ’;,&-E_-,,.,_._}?_‘]_.“_.
" il
?6(3 ) " [t = = 76(3") I | I
=] 763"} 203 /l( | 76(3%) i
N\ t1—'] 610(2) /‘ ’ | | 610 (2) L : :
: Rl I [ " i ~i
15216™) b S 8 [ () S | |5zls"; R So
-1183(]‘-7'“{\\—\?5 ! 483(1-7") .[WT”‘E 24
f 2SS | | | | d;Lb ;LS ga
| f ¥ E+
= [ | ; Z
|
I
|
(|
|
|
|

—~ |
; i | | i
| Position of Guy : ‘ : \ g &
Iyl =5
l' | \ 8
=
! [ : 8%
|y S5
e B RICTUE
| I ”ll |
i §i ]
L Loy
| 5 o sl
ool /%Z P gic
r 14 (Debasish rity) W 5‘;
|4 | PD,TAPP. B : ‘aﬁf
H i = [
g Ly | 5
Md. Abdu] Khaleque; | - 2 2
Consiant TAPP. BRER L ey 5%
P2 1. Brace holes at both end should be 11/16"¢ &6
1o 2. For 200 R.S with Penguin conductor,
(Md Ansanul Haque) |~ ¢ 3. For 150' R.S with Hawk conductor.
. Consultant TAPP, Bmw 4. When the transvers load is more than 500 pound per pin.
#1:= Maximum Line Angle ' install 2!4" x 24" x 3/16" washer on the top of the crossarm for each pin.
# For 477 MCM 0° to 8° - Above 8 Use C3 Construction ! 5. If the load is more than 750 pound.. use steel c!nmp type pin. as shown in C-2-2,
# For 4/0 0° to 10° - Above 10° Use C3 Construction 6. Ifjtransvers !omli exceed 1000 Ibs/pin, use vertical construction.
# For 1/0 0° to 20° - Above 20° Use C3 Construction - 5e gronvwal invGlee st sloeyube geae s
# For 3ACSR 0° to 30° the diameter of g{)'nductor including armor rod when requ;refi.
# Screw lag is required when the unit is installed 8. Normally Bolts will be used to fix the hardwares. If not possible
on wooden pole only, use of G I Clamps (duly approved by greg) shali be made.
ITEM | MAT. CODE| Oty. MATERIAL ITEM|MAT. CODE | Oty. MATERIAL
a Cl 6 Insulator, Pin type cu B41/41.1/44 4 Brace, Steel /Wood 28" x 4"
b B2 2 Pin, Pole top, 20" ¢ B3 4 Bolt m/c 1/2" x 14"
< B6/7/8 4 Bolt, Machine, 5/8" x Required length n B26/B27/B28 3 Bolt, Double arming, 5/8° x Required length
d B46 2 Washer, sq. 4" o da B72 1 Bracket, Secondary
¥ Bl 4 Pin, Crossarm, stee!, 5/8" x (%" cm Can 1 Spool Insulator, 1%4™ dia groove
9 X6 2 Crossarm, steel 4" x 2" x 2" x 4" x 50" ¢ B4/B4.1-4.3 1 Bolt, M/C, 1/2"x as req length
ek B50/138 18 Locknuts, 5/8"p ) B40 3 Screw, lag (for wood pole only) |
|

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION -
' DOUBLE PRIMARY SUPPORT MAX. TRANSVERSE LOADING 0° TO 30° MAX. ANGLE

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

C2B

July 1979 BREB BREB Board 6

Revision Date: July 1980, June 1981, August 1989, July 1995. August 2013, February 2020




~
»| °=d | i ‘ 1
\\_ﬁ-f | |M ; 5
’ “‘L{_"-_r‘r\_
] ¥ k
. | 1 | R W
| 4 . /
| l i m /
i X o
] A .
Position | , b §§
of Guy m ——— -t CE)
| ! I i =
e 7 \'r’ 5 55
| ﬂ ﬂ <
“~ fl— Guy \ _‘:35'
| | bo \\ \;3
] \ ‘:§
P e | . b
o f £0r Tz
¢ Lito . ‘
<+ / 38 Z
. EQ ¥
] : / 25 I3
| | 4 g /' em g7 &,
— ﬁc&(ﬂm N\ LE:[{ | 5@// 5
| / " z
T T gt :
§ N i \ EE‘ 4
A N I | =& s
X ! X \ ar W
.. K Position | | \ =E l‘;
o of Guy : ' ot '
i —+ SECTION X — X = ?
= | ] VA= "
i‘f ' I (Md. Abdul Khaleque) i
) ’ | / " Cotisultant TAPP BRER g
P— i
: ! [ " éc
L g NOTE 8
1 5
g 1. See Dwg M 41 - 10 for 8t
PN d. Ahsanul Haque angle assembly details. ==
: I Consliant TAPE XD Sf
| \Ls '
me pasish Chakiabortty
)&J O D TAPP BRER
FTEMI CODE NO " MATER!A;L: ITEM CODE NO. MATERIAL
cm | C23 1_| Spool Insulater, 1 3/4" or 3" dia groove | m |B82841341357 3 | Clamp, suspension
d _|B46/118| 4 | Washer, square, 2 1/4 s B73 1 | Clevis, secondary, swinging
SR . | 6 | Insulator, suspension ek B50 Locknuts 5/8" bolt size
o _| B18-22 4 | Bolt eye, 5/8" x req'd length
oo | B5S 2 ]Shockle, anchor

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6,35/11 KV PRIMARY, 3-PHASE VERTICAL CONSTRUCTION 30" TO 600

Date of Origin Reviewed by

Approved by Revision No.

Unit Designation

July 1979 BREB BREB Board 6

C3

Revision Date: Julv 1980, June 1981. August 1989, July 1995, August 2013. Februarv 2020



33200

L) ON @S FOM ey e As

1
S N
| B | B
i N 1 ‘| cr o
5 /— s
<+ Guy o
P4 / .
ef—d—ek k
2 |
| |
‘.
i P LA & S
o o
2 E
o o .
] . z
: . B
- 80
~~ g ;)&
: "
@ =
g E=
= 8"
B 28
" e \
| 35
| =5 =
g C =
L) \ §§
: | | . e sy £ ¥
o ! i Position = :
o | of Gu \ EBF 3’5
% | y
. =5
l l ac oF
] 5 St &
. ¥ 8
i 2F Dl
= ﬂ:d—_‘_ cm <§-
NOTE : |G
£

)
|

1. See Dwg M 41 — 10 for

d—ek F‘_}-j angle assembly detail.
2. May be used in place of C2 from 10° to 30°
| | for clearance for large conductor.
.
LEVATION
MATERIAL! MATERIAL
ITEM | CQODE NO MATERIAL ITEM | CODE NO, MA'I:ERiAL
d IR48/118| 7 | Washer, sq. 2 1/4"x3/16"x13/16" hole o B18—20| 1 [(Bolt eye, 5/B8" x req'd length
k [C10 6 | Insulator, suspension bo B55 S |Shackle, anchor
m_ pe2samss| 3 | Clomp, suspension cr Ba8 3 |Bracket, angle, 5/8"
cm [C2/3 1 | Spool_Insulator, 1 3/4" dia ef B100 6_|Bolt, cievis, 5/8" x reqd iength
s |B73 1 | Clevis, secondary, swindging ek B50 — |Locknuts as required
BANGLADESH RURAL ELECTRIFICATION BOARD
\ _ 6.35/11 KV PRIMARY, 3—-PHASE VERTICAL CONSTRUCTION
Unit Description: ) .
10° TO 30 ANGLE FOR LARGE CONDUCTOR (4/0 ACSR)
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6

C3-1

Revision Date: Julv 1980, June 1981, Auwust 1989, Julv 1995, Aucust 2013. Fehrunarv 2020



o A
3
2 | | o—d—ek
) I | Position of Guys
- O R 7
ol 7T |
Lk
d’ . aa-—ek
3
L eliiapy 2
2 LR ™
! W 5
NS
]
- e
- ? | |
. Gu
L .
[
SE S ! :
. S #_\B}tﬂ s e ] oo
3” / 5
&N\ I g
\ ‘"’78\ - Eg
Ny = P LAN -5 a3
! | | i
= g 5
| | W | .'; .
3 I " frew — 4
- .Abdu]
A ! —t Consultant 'rﬁ:hrflgi?g‘ﬁ /
w I:«:’:jl ' aq
e
Y ﬁ?\[ 3 cm P
| ‘ cm bn o
-~ r | & | : nsultant TAPP BREF: e
Ly "7
L / (Md. Mdzamme! Hug)
fMdM"ﬁﬁ’P’.Wﬁ?ﬁ (Md. Duhidul siap), ‘onsultant TAPP RREP SECTION Y-¥
Y IPAr ' Consuitant TAPP RRER
TEM | NO CODE MATERIAL ITEM | NO. | maT.cogepasisii CNaKIaDET o\
cm 2 C2/3 Spool insulator, 1-3/4" or 3" dio groove k 12 C10 1%&@&& sulé';ension
og = Jumpers, as required bn 4 885 Clamp, loop deadend
| 6 B81/132/133 Clamp, deadend bo 4 B55 Shackle, anchor
d 8 | B46 Washer, square, 2-1/4" o 12 B18-22 |Bolt, eye, 5/8" x req’'d length
p v 15/6 Connectors, as required s 9 B73 Clevis, secondary, swinging
ek - |B50 Locknuts, as required aa 4 853 Nut, eye, 5/8"
BANGLADESH RURAL ELECTRIFICATION BOARD -
i f b i = o 0 f) n
Unit Description: 6,35 /11 KV PRIMARY  3—PHASE VERTICAL CONSTRUCTION 60~ TO 90 ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 C4
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




152 (6") 152(6")
T6 (3" [ 76(3") :
| 1067 (3-6") MJ}E}J
|
I
mom
[ 1
|
- 4 ‘
g4
| £
Qb T
\ de
. PR .. E
— B
- P
229 (9 i |
—/ a0 o \_ §
j |
Position of Guy | | :
f I
-~ , oy 610 (29
\ W R aT T "(r_ o sk 5
SR S QI YW SR 76T 7 34300 | | | |
S — s il : i ; Rﬁ 95
L =
1 AN S
i cm pegr i
{ b, =
I 55 Y4S
Note 1 e e qff s Z & %5 . ‘g
1. Brace holes at both end should be 11/16" . - S? S§
2. For 300' R.§ with Hawk conductor S Lo S8 ""é”’
3. Top take-off angle between top and bottom circuit may i A e e
vary from what is shown on this dwg. | [
14 certain location this connection will be made with a hot line clamp, | | - —
-cation of jumper to be determined by the direction in which the line is K,b
i§ routed to maintain propoer phase placement, | ~ y
6. Refer to C7 drawing for deadend requirements. e Mﬁh/ (Md. Duhi o (Md. Mozamme m
11D g Sl Sonoensan losding limition: i visl fiﬁ?}gﬁt}h Sonsuitant E'Jf{'j:rli]r?ianm’lr- st TREEE R
4. Normally Bolts will be used to fix the hardwares. If not possible it R
use of G I Clamps (duly approved by BREB) shall be made.
ITEM | MAT. CODE Qty MATERIAL ITEM | MAT. CODE Qty. MATERIAL
k C10 12 | Insulator, suspension 11 KV | B 81/132/T33 06 |Clamp, deadend
a Ll 01 | Insulator, pintype 11KV p 15/16 - | Connectors as required
¢ B4/4.1-4.3 | 10_| Bolt, machine, 1/2'" x Required length aa B33 04 [ Nut, eye, 58"
d B 46/118 03 | Washer, square, 2 1/4" 0 B 18-20 04__ | Bolt, eye 3%
f Bl 01| Pin,crossarm, steel, 5/8" x 10-3/4" cm Cin 02__| Spoo, Insulator, 1-34" or 3" dia groove
g X7 04 | Crossarm, steel channel 4" x 2" x 2" x /4" x 8-0"|| ek B30 33 | Locknuts as rquired
cu B42/42.1/45 04 | Brace, steel/ wood, 60" Span bo B 55 06 | Anchor, shackle
$ B73 02 | Clevis, secondary swinging n B 26-28 06 | Bolt, Double arming
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:6.35/ 11 KV, PRIMARY, 3.PHASE STEEL CROSSARM (X7) CONSTRUCTION 60° to 90° ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 C4-1A
‘ Sheet 1 of 2
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




©3 G @RS TS sEfae PaR wR 54900

s

AR
l'T,{ LU\

g

(Md. Dumdul Islam)
(Md. T 1011burRa1unan) "“Unc:”f"\r]‘g TAPD RRF

Ann NRER
f‘m yritant

« .
sonsultant TAPP B g TO Chakrabort:
; (Debasish Cha
Consultant TAPP BREB P VIEW | nia nsanut Haque, DeDD PP, BRER

Consultant TAPP, BREH

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:6.35/ 11 KV PRIMARY, 3.PHASE STEEL CROSSARM (X7) HORIZONTAL CONSTRUCTION 60° to 90° ANGLE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 C4-1A
Sheet 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




i R
112 4"y i i |
! I
152 (6") r : | f 152 (6%
. 76437 2634 038 || - way | 7643")
457 (146" 610 (2) | J 610027 J o
b n-d-ek - |
483 (17" 152(6™) ! ! 483 (1T |I
~ ™
= . L___EE_M -, ?m_@‘ i 4
T _ -
| o
| \—J— c-ek v
! J fF
: /
610429 : / / E
i'
ﬂ | g !
U] 2
| e
Gl 1 ‘ : d_.,\g__:
R =a g a
QJVX/“’ 28 (2= $3
(Md. Abd R " S 35 1]
.Abdul Khaleque o i o a
Consultant TAPP pRih £z § &
" — &
152 (6") S 56‘;
22 (6 oh) t"s E’-‘f
x i Sy <
: ' EE g 3
[ . Ta
s o 1 (gt cE
w | i = = IR
Co%?xltnnt’r;\w. BRED L : S5 S8
1 T
o1t unakraporty) L.,fj = v
Debasisri Nakay i
ITEM | MAT. CODE Qty, MATERIAL ITEM | MAT. CODE Qty. MATERIAL
k CI10 12 | Insulator, suspension |} KV | SUT32M33 06 |Clamp, deadend
a Cl 0l Insulator, pin type 11 KV ¢ B3 08 |[Bolt, m/e, 1/2" x1-172"
¢ B4/B4.1-4.3 02 | Bolt, machine, /2" x Required length p 15/16 - | Connectors as required
d B 460118 03| Washer, square, 2 174" aa B33 04 | Nut eye, 558"
F Bl 01| Pin,crossarm, steel, 5/8" X 10-3/4" 0 B 18-20 04__|Bolt, eyo 35789
g X6 04 | Crossarm, steel channeld" x 2" X 2" X 74" X 5-0" cm C3n 02 | Spool, Insulator, 1-3/4" or 3" dia_groove
cu B41/B41.1/44 08 | Brace, steel/ wood, 28" ek B 50 33 | Locknuts a3 rquired
s B 73 02 | Clevis, secondary swinging bo B35 06 | Anchor, shackle
n B26-28 06__| Bolt, Double arming

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6.35/11 KV PRIMARY 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- §0°t0 90° ANGLE

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

July 1979 BRER BRERB Board 6

Page I of 2

C4-1B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Pt
TOP VIEW
Note :-
1. Brace holes at both end should be | 1/16"¢
2. For 150' R.S with Hawk conductor.
3. Top take-off angle between top and bottom
circuit may vary from what is shown on this dwg. Cghni%g?%%%; B “E)p

4. At certain location this connection will be made with a hot line clamp.

5. Location of jumper to be determined by the direction in which the line is
is routed to maintain propoer phase placement.
6. Refer to C7 drawing for deadend requirements.
(Md.AhsanulHaque)  (Debasish Chiakrabortty)

7. 8ee drawing ES-1 for crossarm loading limitation,
8. Normally Bolts will be used to fix the hardwares. If not possible Consultant TAPP. BRER PD,TAPP BREB
use of G | Clamps (duly approved by BREB) shall be made. '

ot
9 By

r"-‘ hsaf]
<. (JBW

‘(kﬂmnu‘
Se

S5E S

]
2.

“onsultant mppi'é?gga

2m)
RER

r—

A

)
"

1
Md {1 ;
~onsultat

(

3]
'

i Rahimn,
RER

(Md. Mozibiip
Consultant, TAPP B

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/11 KV PRIMARY 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- 50°to 90° ANGLE

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

BRER Board 6

July 1979 BREB

C4-1B

Page 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




. «— s S
+ T
| BE
| ]
= L
| | | ___ Position of Guy
= 1 g8
(o)
_‘:Ir | I S3
N 3
] | 3'-0" <
| min, 2
[ 2
|| : ao / k | <
{ | /0 / //
I — | | i S i z
5 T W
\ o
‘S oy i e
<« F/?j K £ D
~ A 28 8¢
a
\:({: I. | Pl EX 8
AW T T =S5
. | I bo E §
Iie) -
y i | 35
f | | g 3%
e - BQ L}
Vi ] 33 g
Position | | 5 e %’%
of Guy o bn 2
1Ly j =2
-0
_____qﬂ_ o e e B P L D C
o =
o—d—ek . cm b= g
» o fra ROV %s 2
mﬂﬁﬁ‘? x B &
mﬂﬁ‘ﬁé e B a%?-
o =£ B2
= 2E
&E g2
Note : See Dwg. M42-11 for deadend assembly detail ‘ SE
ITEM | NO. MAT. CODE MATERIAL ITEM |NO. |MAT. CODE MATERIAL
ag 2 853 Nut, eye k 6 c10 Insulator, suspension
bn 2 Bes/86 |[Clomp, loop deadend
I 3 B81/132/133 Clamp, deadend bo 2 B55 Shackle, anchor
d B46 Washer, squore, 2—1/4" 0 6 B18/19/20(Bolt, eye, 5/8" x req'd length
s 1 B73 Clevis, secondary, swinging
ak B50/138 Locknuts, as required cm 1 c3/2 Spool insulotor, 1-3/4"or 3"dia groove

BANGLADESII RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE VERTICAL CONSTRUCTION, SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

DBRIDB

BREB Board

6

C5

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




ROC

+;>wmmﬁm TR =R 39
! .
-—-i B _E.‘h— y ,LK E@‘B‘J?B’ QMG)’B?\EB
\\“\_ psst Secy-
; g DL/ZV
{Debasish Chakrabortty)
| PN TARD BRER
!
< | Position of Guy | l e = m—l = ™ =
g — =7
L] rd | 33 T -
| | ———n—d—ek fo il
s s A o 4
r I = - — =t —_ i
E
| ikl 2=
- . _ I *):_\ | N n—d—ek g/
o o—d—ek—cm-—s /r : 3
_ Neutral | B /
i | [
[ .
Mozibur Rahman) ‘
A o r I | PLAN C.7 & e B
i — Between arms
| | for C7-1
L/O di d1 gt d1
Md. Mozammel Hua) ) . / \ _ / \
".c(msmtant. TAPP BREP A, 7 Fant X #L: i h L)
L [ = I w _ _ g
[l( Fil \l 1 ¥ anin ¥ ‘\Iqll ‘i—
I iy, — A o = L '_+
DEADEND REQUIREMENTS . S I'-«‘ &
Conductors Assemblies e —d—ek ( \
# 3 c7 A P S . / - 2
e g | = = = = o
,L# 1/0 C7-1 ! = J —
4 4/0 C7 & E5-1 /
n—d—ek’
K
/
| |
NOTE __Md. vunigy isiam, s .
Lonsuitant Tapp RRE
See Drawing M42-11 for 1
deadend assembly details. C(Md-flbdl}]lfgglaqgg)n FlLAN, G 7= (Md. Ahsanul Hague
MATERIAL MATERIAL Consutat PP BRE?
ITEM cope | NO MATERIAL ITEM| cope NO. MATERIAL
| d IR46/118 11 |Washer, square, 2 1/4: i |B8111321133 |3 IClamp. deadend
dl B45/118 3 |[Washer, square, 2 1/4 _(CT-1). n |B26—28 |3 [Bolt, double arming, 5/8" x req'd lenqgth
q1 X1 ;12 Srossormj 3172{24)(‘?;’;ZZB’XB(C7 7 5 gg:ﬁ :15 ﬁ!evis, seco;dcrv. swinging
g X1 —Grm, <— x4 — X 3 qa 3 ut, eye, 5/8"
i B32 4| Bolt, Carringe, 3/8"x 4-1/4" bn | B85/86 |2 |Clamp, loop deadend
/¢ BaB4AI-4Y 2 FScrewiIutgzBoh,.wc,uz"nm.reqh.-ngth cm ] €3/2 [1 lisulator,Spool 1 3/4” or 3" dia groove
K C10 | 6 [Insulator, suspension Cu | B4l41.1/44 14 [Brace, Stwel/ Wood 28" x 1/4"
0 [B18-20] 1 [Bolt, eye, 5/8 x reqd length el B50 — llLocknuts as required

BANGLADESH RURAL ELECTRIFICATION

BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM (X1) CONSTRUCTION- SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

DBREDB

BIRID Board

6 Gt L1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




B3 SN AN R SAIME PTalg 72 39900
- | Sl A G

2438 (8)
| 1219 (4] 1219 (4) l
a7 76 (3" = ) 76 (3") LECH
52 6% 762 {2-6") 305 (1) : I35 762 (2-6") 152 (61)
| | ~—Neutral A
| : I
j . m——
2 T

Position of Guy

Deadend Requirements
Conductors Assemblies
143 C7-1A
2#1/0 CI1-1A&E [-2
3#4/0 C7-1A & E 2-2
4#4TTMCM | C7-IA&ES2|

W
1. Brace holes at both end should be | 1/16"p

2. For 300' R.S with Penguin conductor.

3. Bee drawing M42-11 for deadend assembly details.
4. See drawing ES-1 for crossarm loading limitation.

Conm]tanf TAPP nm:r

c

IDeDaSkmurm

PD,TAPP, BREB

(m Hug)

“onsultant. TAPP BRF!

1 Hogpe)
M ant TAPP BRED

: 4

\_JL/ Ral {Wia. Dunidul Istam),
(M \mltm;libﬂ 1:11;?")7“ ronsuitant TAPP RRF!

5. Normally Boits will be used to fix the hardwares_ [f not possible "onsuitan
use of G | Clamps (duly approved by BREB) shall be made.
ITEM| MAT. CODE Qty. MATERIAL ITEM | MAT. CODE| Qty. MATERIAL
1 B 81/132/133 03 Clamp, deadend n B 26-28 05 | Bolt, Double arming, 578" x Required length
¢ B4/4.1-4.3 05 Bolt, M/C, 1/2"x as req length 5 B73 01 | Clevis, Secondary, swinging
[ X7 02 Crossarm, steel 4" x 2" x 2" x /4" x §'-0" ad B 53 04  |Nut, eye, 578"
k C10 06 Insulator, Suspension bn B 85/86 02 |Clamp, Loop deadend |
ek B50 21 Locknuts, as required cm C3n 01 |Spool Insulator,1%4" 3" dia groove
] B4l 02 Screw, Ing (for wood pole only) cu Ba2/B42.1/845 | 02 |Brace, Steel /Wood 60" span

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION - SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BRERB Board

6

C7-1A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




3 BN AN T AT PTaig 72 39400

o

Moftik)

ecy. (Board), BRER,

@é b
=
£
2
7]
TOP VIEW <
762 (2-6") | 762 (2-6") i
G s ¢ 7 ; S&
e 3’—"\& [ : ! 1929 @" Neutral = g f‘_]J
. 3 1-7") | i (-7 o o
! | 1 7 i ==
S R _(@} . - pt e o @ _Il_. EEE_\JI_.__ M_._.m - ....;f_.@ @ i R g f':.;
prectomeioid =
22919 | !\n-d
Position of Guy —/
|
-y c-d-ek -
W : -! : Deadend Requirements
“Abdul Khaleque) “Ahsanul Hague | i| | Conductors Assemblies o
. Cmuttﬂm‘m pp ?ﬂw“ C(E:I::glanTAPP.aguRﬁlB | I | 343 iy, g
“ace holes at both end should be 1 1/16"¢ : ; 1 3#10 c7 ) g
2. For 100" R.S 11 KV with Penguin conductor, | ‘ | 3#4/0 C1&El12 ,§ £
3. See drawing M42-11 for deadend assembly details. } ‘ { S, E
4. See drawing ES-1 for crossarm loading limitation. | I _f “E
5. Normally Bolts will be used to fix the hardwares. If not possible k,‘(_j Ef_
use of G 1 Clamps (duly approved by BREB) shall be made. i
} isn nalﬁabortw
(DeEaSTaPP BRER
ITEM | MAT. CODE | Qty. MATERIAL ITEM MAT. CODE _ [Qty. MATERIAL
d B4ao/118 01 Washer, square 2 174" 1 B 81/132/133 03 |Clamp, deadend -
g X-6 02 Crossarm, steel 4" x 2" x 2" x 4" x 5'-0" n B26/B27/B28 05| Bolt, Double arming, 5/8" x Required
< B 95 04 Bolt, m/c 5/8"p x 14" s B 73 01 |Clevis, Secondary, swinging
3 C10 06 Tnsulator, Suspension, [ ky aa B33 04 [Nut, eye, 578"
bn B 85/86 02 Clamp, Loop deadend cu B41/41.1/44 04 | Brace, Steel/ wood 28"x A"
cm C32 01 Spool Insulator, T-%" 3" dia groove ek B 50 23 __|Locknuts, as required
C B3 04 Bolt, Machine, 1/2"x 1-1/2" i B4l 02 Screw, lag (for wood m)!_g only)
[t B4/4.1-43 | 01 Bolt, machine, 1/2x 6"- 12" ] |

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/ [1 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION - SINGLE DEADEND

Date of Origin

Reviewed by

Approved

by Revision No.

Unit Designation

July 1979

BRER

BREB Board

6

C7-1B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Position of Guy

_/_"\
Neutral [
| e
| | | |
PLAN 67—5 di - Between arms
L/(-j for C7=-3
& / S \ s ,/ ,=L. \ &
DEADEND REQUIREMENTS ko B F
e S : - S
Conductors Assemblies ¥ o \ kS
# 3 ACSR 73 il P
ACSR - i el ®
1/0 8 c7-2 5— L~ - iz : =
# 1/ & E5-1 [ O ] 7 @
# 4/0 ACSR C7-2 & E5-1 N T (f
/ | /qﬁu
va s
A k n—d=ek /
NOTE : o cm
See Drawing M42-11 for |
deadend assembly details. —
TEMINC| MAT.CODE MATERIAL ITEM| NO./ MAT.CODE MATERIAL
d_|18] B46 Wosher, square, 2-1/4"x 2-1/4" | S _|B81132133 | Clamp, deadend
d 5 | B46 Washer, sc:_ucre, 2-1/4" (C7-3) n 5 B26-30 Bolt, double armina. 5/8"x as req'd length
¢ | 4 | B4/B4.1-43 Bolt, machine, 12"x6"-12" o 1 [B73 Clevis, secondory, swinging
c | 1] Bo/7s Holt, M/C, 5/8"x as req'd length aa | 4 [Bs3 Nut, eve, 5/R"
d | 4| Bas Washer, round, 1-3/8" dia bn | 2 |B85/8s Clamp, loop deadend ;
a |2] x2 Crossarm,3-3/4x4-3/4x10°-0" v 1 23 sulator, Spool, 1-3/4" or 3" grove dia
g |11 x2 Lrossarm,3-3/4xd-3/4x10'-0"(C7-3) Cu | 4 | B42/42.1/45 Srace, Steel/ Wood, 607 Span
L 6] cCio Insulator, suspension ek | — | BsO Locknuts as required
i |4 |B32 Bolt Carriage, 3/8"x 41/’ i 2 [ B4o Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY. 3-Phase Wooden Crossarm(X2) Construction, Single Deadend

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 C7-2,C7-3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, KFebruary 2020

(Debaske
PD,TAPP BREE

)

Sonsultant, TAPP:BRER

IRET

{Md. Dut
onsl

‘Mozibur Rzhman)
ltant, TAPP, BREB

L/"V
(Md. H% (Vd. M
‘anenttant TAPP BREH Consu

€)
dtant TAPD RETT

sy

(




-
o

Md. X46zibur Rahman)
’E;msnltani TAPP BREF

P

(Md. Mogammel Hug)

. Md. Duhigy 51am m ‘onsultant TAPP BRE?

ONsuitant Tap ’
AP RRF ! |

TOP VIEW
5@5&
o™ 2438(8)
76 (3" o
¥ 1219 @) r_l_ 1 1219 (4) g.1t5]
152(6")  76(3") I | 7603 1526}
| | 229(9") o
L . | | )
229 {9"): :
i § o ¥
I | |
_______________ e el
Iy &
Position of Guy = f
| i i
0 N
| |
Deadend Requirements I :
Conductors Assemblies I
1#3 C7A (Md Abdul Khaleque)
2#1/0 CTA&E |-2 Cnnsu]t:zni TAPP glR : @ | e
34400 CTIA & E 2-2 =i
4#477MCM | CTA&E 5-2 s SN
|
S ]
L Bmeholcsubolhmd should be 1 1/16"9 . P 1 %850 Mollik)
2. For 300 R.S with Penguin or Hawk conductor. (Md. Ansanul Haquey | | | nakraportty) ———— T
3, See drawing M42- 11 for deadend assembly details. Consultant TAPP, BRER | rDeSES‘TS in BRE % xd), BREB
4, See drawing ES-1 for crossarm loading limitation. L-«L:;'
5. Normally Bolts will be used to fix the hardwares. If not possible !
use of G [ Clamps (duly approved by BREB) shall be made. )
ITEM | MAT. CODE | Qty. MATERIAL ITEM |MAT. CODE | Qty. MATERIAL
d Bag/TT8 0l Washer, square 2 1/4" [ LKL ARFIER) 03 | Clamp, deadend
I X7 02 Crossarm, steel 4" X 2" X 2" X 7" X 80" n B26-78 03| Bolt, Double arming, 5/8° x Required length
Jc B4143 | 05 Bolt, M/C_1/2"x 6"~ 12" s B 73 01 |Clevis, Secondary, swinging
k C10 08 Insulator, Suspension aa [ 53 03 [Nut,cye, 580
) B 18-20 01 Bolt, eye, 5/8" x req'd length bn 02 | Clamp, Loop deadend
ek B 50 16 Locknuts, 5/8"¢ cm clz 01__ |Insulator, Spool T-%2" 3" dia groove
1 B40 02 Serew, lag (for wood pole only) cu R 42/ B42.1 /345 02 Brace, Steel /Wood 60" span

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY , 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION- SINGLE DEADEND

Revision No. Unit Designation

C7A

Date of Ornigin Reviewed by Approved by

July 1979 BREB BREB Board 6

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, KFebruary 2020 .




E

TOP VIEW

1524 (59 ;
“H
76(3") 76(3") 76(3") 76(3") > A
B l [l— 610(2) . . 610 (2) 5?
| | |
15216") [ | 152t6") ? £ o
| | 483(1-7") < *‘_:
e | | 3
T IS, T U 32
el oo o @ i =y S
S — TR e ey L e <
o
O
L=
o
%
..... — . OI
—/ T
Position of Guy 121940 E l,
Lt
. )
Deadend Requirements |
Conductors Assemblies W I il
| !
1#3 Cc7 (Md’ABdul Khaleque) |
A6 APER] | |
2#1/0 CT&E 12 Consiiltant TAPP BREB | |
3#4/0 CTI&E2-2 | @\ E
4#477TMCM | CT&ES=2 ol c-d-ek-s-cm 2
[ & | 4
Note :- I
. (Md. Ahsanul Haque, | i T
1. Brace holes at {mth end :’.Ihouid be 11/16"p Consultant TAPP. BRER | | - | oL 9 |
r 200 R.S with Penguin conductor. ‘\—/b g5 g% ﬁ |
£ 150 R.S with Hawk conductor. | % e l = Y £
4. For 200’ R.S with Raven conductor. % uEE g ‘
5. For 200" R.S with Swallow conductor, ?f“ &
6. See drawing M42-11 for deadend assembly details. ' St LT
7. See drawing ES-1 for crossarm loading limitation. pepasish C \E‘%ﬂw‘ g i E
8. Normally Bolts will be used to fix the hardwares. If not poss&]?DlTAP , BRED. = f =c
use of G I Clamps (duly approved by BREB] shall be made. '
ITEM [MAT. CODE | Qty. MATERIAL ITEM |MAT. CODE [ Qty. MATERIAL
d BAG/TIE 0l Washer, square 2 1/4" I B#1/132/133 03 Clamp, deadend
[] X6 02 Crossarm, steel 4" x 2" X 2" X %" x 5-0" n B26/B27/B28 03 | Bolt, Double arming, 578" x Required leagth
¢ B3 04 Bolt, mfc, 12"x 14" ] B73 01  |Clevis, Secondary, swinging
k Cl0 06 Insulator, Suspension an B33 03 [Nut, eye, 5/8%0
0 B18-20 01 Bolt, eye, 5/8" x req'd length bn B 85/86 02 |Clamp, Loop deadend
ek B50 16 Locknuts, /8" cm C 372 01 Spool Insulator,1-%" 3" dia groove
J B40 02 Serew, lag (for wood pole only) cu B 41/ B41.1/ B 44 04 |Brace, Steel "Wood 28" X %"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- SINGLE DEADEND

Date of Origin Reviewed by Approved by

Revision No.

Unit Designation

July 1979 BREB BREB Board

6

C7B

Revision Date: Julv 1980, Tune 1981. August 1989, Julv 1995, Auoust 2013, Fehrnarv 2020




‘ . c—d f»
w
- /L\ ) -— g 4@ / :
/4 D\ 0T — (;é / %/ QQ“-&
LN\LZ L éh &9&&”
: N AP o
] N \ -7 H('
. SR S _ ek o &f\‘:
/ NOTE v
' 1. See Dwg. M42-11 for deadend assembly
: | | details.
o
-{L Position of Guy - I | 2. At certain locations this connection will
whrn required | | be made with hot line clamp. -
j ' I 3. C8 may be used for angles upto 45,
| | Install anchor shackles, one on each
X | l X eyenut and eyebolt.
~ 1 | t ‘ |
e ] | | I
/
| o—d | [ﬂ] | o R \ p (Note 2) |
bn /
| aq __-t‘;ilj] I \“\\ k 1
cm | 9 aa
| aa
s\ /-H\\] \\ // {/’i\
N D) i - © \C}
aa e i Ny
d—ek e { /‘%
I
. - ol X :// &,
RN () == —e—D}
Mo 2 e i BN
aq '
o} _‘,_..--*-k
P
k BT
P / .——/! %_Jé:L.
~ ] L tE
el ~) =
I ! &
D-DVA= | PLAN -
SECTION X-—X =
(Md Abd] [tmisque, ,A/ (Debasish Chékiaborly 52
Consultant TAPP. BREB Y RPD TAPP, BREB =5
_Ahsanu € Bl
TEM| NO MATERIAL CénsulanTAPP. . CODE| |TEM]| NO. LWAT, CQODH MATERIAL
em| 2 |lnsulator, Spool 1-—;5/4" or 3" dia qroove| C2/3 P Cl1 Insulator, pin type -
c 2 |Bolt, machine, 5/8 xreq'd length B6/7/8 B |1 B2 Pole top pin 20" =i
c 5 |Bolt, m/e, 1/2x 6"- 12" " B4/B4.1-43 | | o | 2 BI8-22 |Bolt, eve, 5/8"xreq'd length %g
d 16_|Washer, square, 2—1/1 . B46/118 P = I11/2/3/4 |Connectors, as required \CD-CL
d 4 Wcsher. round, 1-3/8 dia B48 ag |~ Jumpers, as_required s
s 2_|Clevis, secondary, swinging BZ3 aa | 6 B53 Nut, eve, 5/8" E?
q 2 |Crossarm, 3—=1/2 ).<4-1/2 x8 =0 %1 bn | 4 585 Clamp, loop deadend n"‘?
k 12 |Insulators, suspension . . By bao | 8 B55 Shackle, _anchor{see Note 3) =g
n 3 |Bolt, double orming, 5/8"xreq’d length B26 - 30 Cu | 4 {B42/42.1/45 [Brace, SteelWood 60 Span &
f 4_|Pin, x—arm, steel 5/8 x10-3/4" _ A1 gk | — B850 Locknuts as required
i 4 Bolt, Carriage (When B4/4.1-4.3 are not available) B32 i 2 B40 Screw, lag, (For Wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV PRIMARY. 3-PHASE WOODEN CROSSARM (X1) CONSTRUCTION- DOUBLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

Zibur Rahman )
TAPR BREF

July 1979 BRED

DBRID Board

G

C8

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

(Md. Mo
o

Consultant T




8" a1 =41/2" g —q" '_41/2" ” ©
I'~41/2 £2°, 9 1'-9 U=M/2" gy 8" RS
_'L\'-&
‘ ; 4 7
4*
AT
- | &+ | @,@
7 £/ Qﬁ/ﬁs’ <
g &
o
\ S
.. é”
l NOTE : - ¥
o f
- | ! 1. See Dwg. M42-11 for deadend assembly
. Position of Guy details.
o~ A
when required | |
2. At certain locations this connection will
[ | be made with hot line clamp.
| i
3. C8-1 may be used for angle upto 45,
| | Install anchor shackles, one on each
, ! eyenut.
g | | Neutral
o~g = | | I I : I I r
Y n | k \\ |
— \Wl\“‘:‘“c’g." aq \,__J_\ ; : i \ \
d: nqizoW PN ¢
(trouTeY MOIZoW e
T '“M ’ i n—d-ek
2T, \/“ e [&,/\
9388 ddvL Jueunsuo: 4 Hﬂ -} 1 O—
frlfw.w A () N 4 Ve &
B -
2N sl ]
438 ddvL JUBINSUOS ( H)B O - T 1 -©—(
ML pinEzonss e 4 i :
/ aa 8 r—-d=ek
n—d-—ek § s -~
! | 5 P
4 e Q cm lﬁ \
Md. Abdul Khaleque) # :
) Cr{m‘:nlta‘l"‘ TAPP RRER k p Cl}
- I
Mg Afsltage) (4! ! ’ ‘
(Eﬂg%]miml’,ﬂm i ] gy
TR NO | CODE (D%g%weémgomw TEM| NO.|  copk MATERIAL
em| 2 |C32 Spool insulator, 1- 3" grovedia || . | 8 C1 Tnsulator, Pin Type
L1 2 B0 Screw, leg (for wood pole) 6__| B81/132/133 | Clamp, Deadend
¢ {5 |B4id.143Bolt, machine, 1/2"x6™- 12" ] 4 | B3 _ | Bolt, carriage (When B4/4.1-4.3 are not availabic)
d | 18 |B46 asher, square, 2—1/% 2 Connects ired K
d 4 _|B48 Wosf\er, round, 1-3/8" dia aaq | ~ Jumners.rg:_-: orséqz?rgeu&re
s | 2 |B73 glews, secondary, swinging al| B B53 Nut. eve 5/8"
9 | 2 [Xi1 rossarm, 3-3/4x 4-3/4x 10'-0" bn | 4 | Bss/BS6 | Clamp. Io
- p. loop deade
k | 12 |C10 Insulators, suspension By | 8 B55 Slmc_kle.Ancl?nr“orangﬁ]e]
n | 5 [B26-30 |Bol, D/A, 5/8"x req'd l?_-‘-!!gth" cul 2 B42/B421 Brace, Steel/Wood 80" span’
f ll B 1Bl Cin, x—arm, steel, 5/B'xT0=374" ek | = B50/138 Lock Nuts, as required
Shackle, anchor (for anclesniv) .
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM (X2) CONSTRUCTION- DOUBLE DEADEND
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 C8_1
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




@mt

: m (Md. Duhidut I1siam (VIG. ; 'ﬁ“q;’
ﬁmmmﬁ‘%ﬁ“‘ AN Consuttant 1 E\._Fjr: fp,pJE. nsuitant TAPP RP!

T

Bl s g oo eene g e o e e s

TOP VIEW
1219 4" | 1219 (4)
1) 5 76 (3" ! i 76 (3" Neutral w 1603")
wifly > 2] 686 (2-3") 2 soson [T Tobsay L2 s 20, 136)
i o | | - ‘ E %/ ,
= | N ~
H I I !
s {5_ T ? - 1
I
|
|
1o
|
Position of Guy :
! A2 (Md. Abdul Khaleque;
: A% Consultant TAPP RRER
|
(Md. Ahsanul Hague
Note :- Consultant TAPP. BRE}.

Brace holes at both end should be [ 1/16"¢
© 100 R.S 11 KV with Penguin conductor,

|
|
| ‘ |
Lol &/
ver 200 R.S 11 KV with Hawk conductor. oo f /

4. See drawing M42-11 for deadend assembly details. L ./ ;

5. At certain locations this connection will be made with hot line clamp. : ‘ < (Debasish CHakrabortty
|

|
6. C8-1A may be used for angles upto 45° install anchor shackles, ; } "g:z PD,TAPP, BREB.
one on each eye nut and eye bolt. I ' |

7. Normally Bolts will be used to fix the hardwares. [f not possible ud
use of G [ Clamps (duly approved by BREB) shall be made.

[TEM [MAT. CODE |Qty. MATERIAL ITEM |MAT. CODE [ Qty. MATERIAL
d B46/118 [ Washer, square 2 [/47 1 BEU/13Z2 /133 06 {Clamp, deadend e
f BI ¢8| Crossarm Pin, 10-3/4" n B26/B27/B28 | 05 |Bolt, Double arming, 5/8 X Required Iength
8 X7 02 | Crossarm, steel channel 4* x 2" x 2" x 4" X $ B73 02 [clevis, Secondary, swinging
3 CI0 12| Tnsulator, Suspension a0 B 53 06 [ Nut,eye, 578"
c B4/4.1-4.3 05 | Bolt, M/C, T727x 6"- 12" bn B 83786 04 |Clamp, Loop deadend
cu B42/42.1/45 02 Brace, Steel Wood 607 Span '_CITI C 372 02 i *g‘oi_l_j%'_ s'dl_lm!t____
ek B0 23 | Locknuts, as required k CL 8 Insulator, Pin Type, 11 KV

__j B40 02 | Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION, DOUBLE DEADEND

Date of Ongin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 CB=1A

Revision Date: July 1980, Tune 1981, August 1989, July 1995, August 2013, February 2020




¢ ‘
= g - .- s P
Y n-d /
er% / iy AR _‘__...,. _____,:} S
& - N = .
B¢ . .
E= |~ ! | _F
%E i : aa N— a8
P o—"15 | [
' %;% ! 762 (26" gg
Y- ' o M
bn/ | I =
5 ~— | g
B TOP VIEW E g
i
Ya
=a
= gt | | 5
S 76 (3" ST = Neutral 763+ o | e
= =% H(_l\isﬁ;{\_‘}{ ) l?.‘l(?l'r} " s _.-_)\\152 (6 ‘)/,_l._).
L= B e i :
= a | IF’-39 (9")—| 483 (1'-7) - a
[ — | / I L f
s oo 4NV
s ; W ¢l
& y |
Spa PR NUPING.  B——
A —/ ; [
= L) ) (Md. Abdu] kp
B o T £ dleque)
ﬁ g Position of Guy ’ ‘ g onsultant TAPp RRpr-
A i
o &
e
Note :-  (Md. Ahsanu] Hage)
1. Brace holes at both end should be 11/16"¢ Consultant TAPP, BREp
2, For 100" R.8 11 KV with Penguin conductor,
3. $~drawing M42-11 for deadend assembly details.
4., ertain locations this connection will be made with hot line clamp.
5.C8-1B  may be used for angles upto 45 install anchor shackles, Jasist UhAKiavortty,
one on each eye nut and eye bolt. LIedsisl BRER,
6. Normally Bolts will be used to fix the hardwares. If not possible PD,TAPP, "
use of G I Clamps (duly approved by BREB) shall be made. _ 3
7. Screw, lag 1s required when the unit is installed ded pole. .
£ juired wnen the umt 1s installed on woo P L’l,d ,;3
5
ITEM [MAT. CODE [Qty. MATERIAL ITEM |MAT. CODE | Qty. ____MATERIAL
a c1r 08 | Insulator, pin type 11 kv I B 81/132/133 06 | Clamp, deadend
c Bd/d.1-4.3 02 [Bol,MC 12"x 67- 12" n B26/B27/B28 05 | Bolt, Double armng, /8" x Required length
e B3 04 [Bole, Mic, 12mx 113 ] B73 02 [Clevis, Secondary, swinging
T BI 08 |Pin x-arm, Steel pin, a8 B 53 08 [Nut, eye, 5/8"
g X6 02 [Crossarm, steel channeld" x 2" x 2" K /4" X 5 - bn B 85/86 04 _|Clamp, Loop deadend
k CI0 12 __| Insulator, Suspension, |1 kv cm CiR 02__|Spool Insulator,1-%" 3" dia groove
ek B50 23 Locknuts, as required cu B41/41.1/44 04 |Brace, Steel/Wood 28" x 4"
j B40 02 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6.35/11 KV PRIMARY  3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- SINGLE DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 C8-1B

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020

o -



-4 Atisan Moftik)
Asst. Secy. (Boald), BREB.

Position of Guy -

' Abdul Khaleque)
Consultant TAPP, BREB

Note ;-

S
|
E
1

6102-10m o~

s TOP VIEW | .
S —
= 4
o
102(4") | »a 25
—~ o) EF
) c-d-ek o 457 (16" NE 763
152(6") /l(’_fé,,l . \ : f 203 (8") b d:% Eﬁ!\ 152(6")
| H 44 :
—_._-_u.—-m_wj * a -
| £
| | .
- e e s | A = > e
L 4 i
22009 | -
I I
e A I

gy s
L a L:q
1. Brgas holes at both end should be 11/16"¢ &
LE ?&J R.$ 11 KV with Hawk conductor. Cé,g&ﬁf?ﬂg?ﬁg : | c-ek - JS 2
. For200' RS 11 KV with Penguin conductor. ; ‘ | _l g ot
i, See drawing M42-11 for deadend assembly details. [ i &
3. At certain locations this connection will be made with hot line clamp. X | | s e g
5. C8A may be used for angles upto 45° install anchor shackles, | \\_ 5=
one un tacr Bye nur aha eye oolt, | | o-d-ek E ? Section XX
f. Normally Bolts will be used to fix the hardwares. If not nossible 8G —=\J I = v /PRGOS
use of G I Clamps (duly approved by BREB) shall be made.
ITEM [MAT. CODE |Qty. MATERIAL ITEM [MAT. CODE [ Qty MATERIAL
d B 46/118 04~ [Washer, square 2 [/4" I B 81/132 /133 06 | Clamp, deadend
[ o) 05  |insulator, pin type 11 kv n B26/B27/B28 03 | Bolt, Double arming, /8" x Required length
¢ B4/4.1-4.3 | 05 |Bolt, Machine, 172" x6"_ | 2" s B73 02 |Clevis, Secondary, swinging
f B I 04 | Pin x-arm, Steel pin, — aa B 53 06 | Nut, eve, 3/8"
g X7 02 [Crossarm, steel channel 4" x 2" x 2" x 4" x 80"} bn B 85/86 04 _{Clamp, Loop deadend
k Clo 12___| Insulator, Suspensian cm cin 02 |Spool Tnsulator,1-%" 3" dia groove
0 B 18-20 02 |Bolt_eye, 5/8" x req'd length cu B42/B42.1/B45 02 |Brace, Steel /'Wood 60" Span
b B2 01__|Pin, Pole top ek B 50 19 _|Locknuts, asrequired |
¥ 1 B40 02 | Screw, Lag (for wood pole only) ' ¢ B6/7/8 02 [Bolt. M/C, 5/8"x as req'd length

BANGLADESH RURAL ELECTRIFICATION BOARD

{Debasish Chakrabortly

OO-TADD: DOFE
Ly

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION, DOUBLE DEADEND

L n P e e )

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

C8A

Revision Date: July 1980, Tune 1981, August 1989, July 1995, August 2013, February 2020




? TOP VIEW ’

| aa d-ek
oy
NOD: S _}\u‘ —
n-d 7 £
_*.._‘_J e

i

&) B aﬁmmma‘ 393,00

Rl oy 0
762 (2'-6") 1 762 (2-6")
| e ——a
.
102(4") |
152 (6™
—~ ) ]
o 2
¢-d-ek |r | 457 (1-6") g
76 (3") Ganaeny 76(3" 203 (8" 76(3") " 76 (3"
4-.&1132((3)/*_‘._‘ " J L2 ) Sl s | B0 3
i ] <
E ﬁ% 483 (17" nﬂ i 483 (1-7") 3 E
= l A\ ! E
i 5 I
o . .; . (C.) .‘p\.‘: .......... i o _.T..- \«E
=4
Position of Guy A—/ 3 ‘
s
. o = 5 \
610 (2-10") M. ostUIR'clhI_ﬂanJ Ba\_\_
Note :- Ir “mnepltant TAPP BREB d-ek ity s
1. Brace holes at both end should be 11/16"¢ Lol - S e e
2. For 150' R.S 11 KV with Hawk conductor. [ I . Sals””
3. For 200' R.S 11 KV with Penguin conductor, | ‘ I N '.Md_- Duhidul |§Iam3 2
47z drawing M42-11 for deadend assembly details, o 1 ‘onsuitant TAPP RRF \aq
5. ..« certain locations this connection will be made with hot line p. ! ‘ I X [
clamp. | !
6. C8B may be used for angles upto 45° install anchor shackles, I J I \_
one on each eye nut and eye bolt. ! | (Md. Mdgamimel Hug) P
7. Normally Bolts will be used to fix the hardwares. If not possible R | ‘nnsultant TAPP BRER bn
use of G | Clamps (duly approved by BREE) shall be made. kit !
8. Carriage is required when wooden crossarm is uned | | Section X-X
9. Serew, lag is required when the unit is installed on wooden pole only, aq | i -
(Md. Abdul Khaieque,
. Copsultant TAPP, BREF
ITEM | MAT. CODE |Qty. MATERIAL ITEM |MAT. CODE Qty. MATERIAL
d B36/T18 04 [Washer, square 2 174" I B 81/132 06 | Clamp, deadend
a Cl 05 lnsulator, pin type 11 kv n B26/B27/B28 03| Bolt, Double arming, 578" x Required
c BA/4.1-4.3 0i | Bolt, Machine, 172" x 6" - 12" s B73 02 | Clevis, Secondary, swinging
. B6//8 02 __[Bolt, Machine, 5/8"¢ x Required length aa B33 07 |Nut, eye, 5/8"
f B1 04 in x-arm, Steel pin, bn B 85/86 04 |Clamp, Loop deadend
8 X-6 02" | Crossarm, steel channel 4" x 2" X 2" x V" X 5-0"]| _cm C 32 02 _|Spool Insulator, 17" 3" dia groove
k C10 12 Insulator, Suspension cu B41/B41.1/B44 04 |Brace, Steel /Wood 28" X Yo"
0 B 18-20 02 |Bolt, eye, 5/8" x reqd length ck B350 19 |Locknuts, as required
b B2 01 Pin, Pole top i B4 02 Serew, leg (for wood pole)
¢ B3 04 | Bolt, MiC, 12" LI

_BANGLADESH RURAL ELECTRIFICATION BOARD

IAEA o 1
Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION, DOUBLE DEADENDgnsyltant TAPP. BREF

°n

e nas

3 m.mllll

PP BR

A1

Date of Origin Reviewed by

Approved by

Revision No.

Unit Designation

July 1979 BREB

BRER Board

6

C8B

= R =N,

Revision Date: Julv 1980, JTune 1981. August 1989, Julv 1995. August 2013, Febhruary 2020




4" P
|
ZI“IE o d}% |
P - |
S| T —— 1 - i
v ol
>
Position 06’ |
| |
| |
| |
I |
| |
3 | |
| I
[} g
I | I
g5
ER
=S
: : Neutral | I :s_if_{-
n—d | | '
LIS I \l ™~ ¢ |
(11';5 = - \.Fu i
1 T = 1 - T < T S E:ﬂ_
(6 O— {® —@—0
| | / | ]17 2F
W= L i " | =
@) o— - —F-—@®—o0— - —@ 25
i T o |
~ N\ | aw” | ! Ao | -
! n—d I | g E
(Md. Abdul Khalegue, o
| [ I Consultant TAPP. BREF | ;-
P L AN S -
NOTES " i " r@/’ SE
1, # 4/0 — 0° to 10° — ABOVE 1 o B
# 4/ 1 o : BOVE 00 USE C3 CONSTRUCTION MaKhsanul Hague; 27
# 1/0 - 07 to 20 — ABOVE 20~ USE C3 CONSTRUCTION “onsultant TAPP RRET '
= 52 ° Debasis hakraborti
#3 T::JR to 30 (e dbr RREF
MA 1AL MATERIAL i
ITEM CODE NO MATERIAL ITEM CODE NO. MATERIAL
a |C1 8 |Insulator. pin tvoe n | B2627228 | 3 | Bolt. double armina.
¢ |B4/4.1-43| 1 |Bolt, machine, 1/2" x 6 -12" cu_| B42/42.1145| 2 | Brace, Steel/'Wood 60" span
d [B46/118[10 |Washer, square 2 1/4" ek | B51 Locknuts gs required
d |B48 4 |Washer, rd, 1 3/8" dia, 9/16" hole i [B32 4 | Bolt Carriage
g [X2 2 [Crossarm, 3 3/4 x4 3/4x10=-0" i B40 2 | Screw, lag (for wood pole)
f_|Bi |8 |Pin, crossarm, steel, 5/8 x10 374"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:

6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION- DOUBLE LINE ARM

Date off Origin

Reviewed by

Approved by

Revision No. Unit Designation

July 1979

BRED

BRIED Doard

6

9

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




3'-1" 4"
A
c—d—ek %’( "
P
4

Consultant, TAPP, BRER

rul

(Kam
Amsec"m‘“dl.ﬂkm,

(Md Ahsanul Haque,
[ =ett)
I I 3%
o " E&
- portly E
08D ThbP BRED &5
Neutral | s
o2
=€

: - Duhidul Islar
DNsuftant TAPD r‘;p)n-r

|
S
o
&)
¥
(Md. Du

TV 4
i c-d | ek ! | a | =5
I I I | %%
| I ] I 4
P LAN 2+
25
ot
_\E‘-QS Va8 A0l S Gl 1l X 39900 H—’f
MATERIAL | MATERIAL
ITEM| CODE NO MATERIAL iTEM | CODE NO. MATERIAL
YR e 4 |Insulotor. pin tvp cu_ | B42/42,1/45 | 1 Brace, Steel/Wood 60" spcn
¢ 1 B6/7/8 |1 _|Bolt, machine, 5/8" x required length ek B850 Locknuts
¢ | B4/4.1-43]|3 |Bolt, machine, 1/2" x 6" - 12" i B32 2 | Bolt, Carriage (Instead of B4/4.1- 4.3)
d | B46/118| 3 |Washer, square 2-1/4" i B40 1 | Screw, lag (for wood pole only)
d | B48 2 |Wosher, rd, 1 _3/8" dio, 9/16" hole
q | X2 1 | Crossarm, s—5/4 x4=3/4 x10 =0
181 4 | Pin, crossarm, steel, 5/8x10-3/4
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription:  6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION- SINGLE LINE ARM
Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 C9-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020 -




c-d

Neutral

|

| |

i % ;
1N ey ] L
| [ S N

TOP VIEW
2438 (8"
W19 (4 [ 1219 (4)
76(3") o -—I--. e i 76(3")
Frien 253 686 (2-3") O R ) p—Neuwdl 1) 126
4 I} | | ‘ l,m) - r/ c-ek Y
o0 § o Pl . S
| =
7 } ! L
n-ck
- . g@ * (Md. Abdul Khaleque.
W ° i Consultant TAPP RRE
. AT : 4 A
. | Z : ahman)
M Q | | | e-d-ek (Nid_g\-"‘iﬁﬁlb’}}zgghgpvp
‘E"\ I | | Tanenitan
 ade
o : \Ma. Ansanu) ¢
Note :- : ! : (Mid Uumdu'r..ls‘.am)rT Consultant TAPP aﬁ*ﬁiﬁn
4ant TAPP BRF *
1. Brace holes at both end should be 1 1/16"¢ | | I ‘onsuitant TAPP BR
2. For 300' R.S 11 KV with Penguin conductor. | i
3-Far 150' R.8 11 KV with Hawk conductor. | ‘ i
_ rmally Bolts will be used to fix the hardwares [f nnt nossible | ‘ |
use of G I Clamps (duly approved by BREB) shall be made. Il 2 | Hua)
5. Screw, lag is required when the unit is installed on : ‘ ]l ‘{Md- 02:&};":2& |-:jpc‘;!*=[[)ebasis hakrabortty)
wooden pole iy ‘onsuftant oD TAPP, BREB
|
ITEM | MAT. CODE |Qty. MATERIAL ITEM | MAT. CODE | Qty. - MATERIAL
-, C1 04_| Insulator, pin type cu B42/B42.1/B45 | 01 [Brace, steel/Wood 60" span
c B 6?'71'18 ()1 |{Boit, machine, 5/8" x Required length t:.k B50 /138 04 %O:kntm e
d B46/118 01 |Washer, square 2- /4" Bl 04 crossarm, Stee L
[ X7 01 |Crossarm, sieel channel 4" x 2" x 2" x 7" X 8-0" i B32 02| Bolt Carriage (Instead of B4/4.1-4.3)
[3

B4/B4.1-4.3 03| Bolt, M/C, 1/2"x 6"- 12"
Ba0 01 [Screw, Ing (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION - SINGLE LINE ARM

Date of Origin Reviewed by Approved by Revision No. Unit Designation

Tuly 1979 BREB BREB Board 6 C9:1A

Revision Date:: Tuly 1980, June: 1981, August; 1989, July 1995, August 2013, February 2020




372 59400

TOP VIEW
S
762 {2'-6") 762 {2'-6") 5] ;|
1800 [us266n 286 351 13y oo [y [ Nl 2809 1526 P E‘\
e
;é Ef 48\(17) 'l ‘ !229(9“)£483(I'-7") S |
e m—— e 7 5 - oo s WY
o ‘ X I .~ S| —— S| e
- ! :\_ | \—c 1-ek g
3
i ! : c-d-ek w
| [ I (Md. Abdul Khaleque,
ll ‘ : . Consultant TAPP. BRE]
L i
H
{ | | (Md L}me) (mm
| ! | ~onsuftant TAPD RRFE “onsultant TAPP. BRER
. L]
Note :- I ! i
L L

|. Brace holes at both end should be 11/16"¢

(M:&Z'mei Hug)

2. For 100' R.8S 11 KV with Penguin conductor. : ‘onsultant TAPS ca Debasish G akraportty
3. Normally Bolts will be used to fix the hardwares. If not possible K{D‘ 0 BREB
use of G I Clamps (duly approved by BREB) shall be made. | PD, TAPY,
ITEM | MAT. CODE |[Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL l
a Ll 04 lnsulator, pin type cu BA1/B41.1/B44 02 | Brace, steel ‘Wood 28" x %"
[ B 6/7/8 01 "[Bolt, machine, 5/8" x Required length ek B50/138 04 | Locknuts
d B 46/118 02 |Washer, square 2- 1/4" g B3 02 | Bolt, MIC, 12"x 11/
] X6 01 [Crossarm, steel channel 4" x 2" x 2" x %" x 5-0" i B40, 01 | Serew, Iag (for wood ploe only)
f Bl . 04 |Pin, crossarm, steel, 5/8" x 10 3/4" C B4/B4.1-4.3 01 |Bolt, machine, 1/2"x 6"- 12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV 1-PHASE STEEL CROSSARM (X6) CONSTRUCTION-

SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Umit Designation

July 1979

BREB

BREB Board

C9-1B

Revision Date; July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Neutral

"ﬁ} = ) R | AR i < ¢ R © A (0
/| q '
- . | T
WY & - () i () : @ ]
[ S | < | N
| ' | f l
I | | | f
TOP VIEW
2418(%)
1210 (4) ; 1219 (4
BT o N ]
o 560 686 (2-3%) DS R TS y—Neutral (ol 230 2600 T5260)
L <
8_\ # | ‘ [ 229'(9": / " >
| [ Ll =N g—
3 T T § :
MNe——f — £ - ~—~‘-§— —— e — —-——JI}‘—J‘—
_ i . .
- 1 =4 7
n-ek
TOM SHwWe BrEe < 29900
Rahman) : =
Md. > .P\gﬂ\m?n
onsultant S o
; t
hasis! hakrabq
/ mpo.TAPP BREB
(Md Dufidul Isiarm
T e [ e e A
I | . Ahsanul Haque)
| : ARMCAL Khalep®  onsultant TAPP BRER
Note :- [ | i :
| Brace holes at both end should be [1/16¢ ' '
2. For I50' RS 11 KV with Hawk conductor o

Note :- Maximum Line Angle
# For 477 MCM 0° to 8° - Above 8° Use C3 Construction

37300 R.S 11 KV with Penguin conductor. |
4., .emally Bolts will be used to fix the hardwares. If not possible

use of G I Clamps (duly approved by BREB) shall be made. # For 4/0 0° to 10° - Above |10° Use C3 Construction
5. Screw, lag is required when the unit is # For 1/0 0° 10 20° - Above 20° Use C3 Construction
installed on wooden pole. ol A%iSan MoKy # For 3ACSR 0° to 30°
Asst. Secv. (Board), BREB.
ITEM | MAT. CODE MATERIAL ITEM [ MAT. CODE | Qty. MATERIAL
a Cl Insulator, pin n B26/B27/B28 03 | Bolt, Double aming,
¢ ~ B6IB = | Bolt, machine, 5/8" x Required length cu B42742.1/45 02 | Brace, steel /Wood 60" span
d B 46/118 01 |Washer, square 2- 1/4" ek B 50 / 138 15__|Locknuls as required
] X1 01 |Crossarm, sieel channel 3"x 2" x " x /A" x [ B3 D4 [Bolt, M/C, 12"x 11/T
f Bl 08 |Pin, crossarm, steel, 5/8" x 10 3/4" ] B40 02 | Screw, lag (for wood pole only)
4 B4/4.1-4.3 01 _|Bolt, /T, 1/2"x 6" - 12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 635/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION - DOUBLE LINE ARM

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 COA

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




@ % ¥9%00

N s J I N o l o
l neek | ’ e/ r | ‘ [ ' %’l
i
TOP VIEW E
762 (2-6") | 762 (2'-6")
" " —I— — u ] " -
2600 | 1s2¢6n) 2897 381 13y 2007 | pod /O 180, 152 ey | 7007 3
. ¥ g TR N
229 (9"
d,:é a7 G R Y TUE SN ‘d;) g )
i ‘ ¥ : i ' i
t;— B i oot e oo e o st G e
il 1 L | 1l . ¥
~ =4 v - {
n-el
j g g8 g
Position of Guy ;E &= S @
when required za EE: g
i £ S5
R = E <<
L H =
| | | c-d-ek = g EE c%
L iz . :
=E
Ko o -9 <
PR
| | -
R T
o i Sk K
- 4= ce B ©
I I o ® a §‘° &
L b =5 a MR c
Note :- _ -.'g g \ 2 =& g E
— ! = - ;
1. Brace holes at both end should be 11/16%9 | =4 ' 2: O
ar 100' R.S 11 KV with Hawk conductor. 2g Cas <3 B
. vor 100 R.S 11 KV with Penguin conductor s = @ =¥ -5
4. Nommally Bolts will be used to fix the hardwares. I not possible S c
. guof(i 1 Clamps (dul lﬁpm;ed by BREB) sh:;l t:je made, .
5. Screw, lag is required when the unit is installed on i . .
Sihiat s Maximum Line Angles: ‘
# For 4/0 0° to 10° - Above 10° Use C3 Construction
# For 1/0 0° to 20° - Above 20° Use C3 Construction
# For 3ACSR 0" 1o 30°
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE| Qty. MATERIAL
a Cl 08 |Insulator, pin ,% n B26/B27/B28 03 | Bolt, Double arming,
[C B 6/7/8 - | Balt, machine, 5/8" x Required length cu B31/B41.1/B44 04 | Brace, steel /Wood 28" x %"
d B 46/118 01 | Washer, square 2- |/4" ek B 50 15 |Locknuts as required
B Xé UZ | Crossarm, steel channel 4" x 2" x 2" x 4" x 5'-0" c B4/B4.1-4.3 01 |Bolt, MIC, 1/2"x 6" - 12"
i Bl 08 |Pin, crossarm, steel, 5/8" x 10 3/4" ¢ B3 04 | Bolt, MIC. 12" 1V
i B40 02 |Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION-DOUBLE LINE ARM

Date ol Onigin

Reviewed by Approved by Revision No

Umit Designation

July 1979

BRER BREB Board 6

C9B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




c—d—ek

i

R -

= |
d-ek | i | J | |
I | I
NOTES:
I | 1. Brace Installation: First bolt brace to crossarm, then drill brace bolt hole through pole. |
2. Where these assemblies are required, spans should be shortend.
L_/d 3. Neutral pasition may be changed in the field as direeted by the Engineer. L_/d
4. Screw, lag is required when the unit is installed on wooden pole only.
~ |
| \ /fv’ W\_/ W
- 1 Hague,
i (Md Ahsanu P RRE
\¥<Tour Rahiman) : “/ Md. Mezarmime! HUQ) d.m Aonsultant TAP
(v MozBur R, (Vi Dubidul stam) oneuant TAPP BRE  o{ncit i TAPR BRER P
ORI Lonsuitanf TAPP RRE
o t
a3 St
MATERIAL MATERIAL (0e RREB
ITEM|NO|  CODE MATERIAL TEM| cope  |NO. METERDE"
a | 3[CY Insulator. pin_type qc_|B43/43.143.2] 1| Brace, Steel, Sidearm, 7'-0"/ 60"/ 25"
c | 218B6/7/8 |Bolt, machine, 5/8" x reqd length| bs B33/34/35 |1 _|Bolt, single upset
ilc | 1 [B40/B4/4.1-4.3 | Screw, leg/ Bolt, M/C, 12"x 6" - 12" cm (C3/2 1 Insulator, Spool type, 1-3/4" or 3" grove dia
d [ 11848 Washer, round, 1 3/8" diameter | ek |B50 2_[Locknuts
f |3 1Bl Pin, X—arm, steel, 5/8"x10-3/4") | i [B32 1 | Bolt Carriage, 3/8"x 417"
g [ 11X1 Crossarm, 3 1/2"x4 1/27x8'-0"
1

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE SIDEARM CONSTRUCTION WITH WOODEN CROSSARM- TANGENT

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRIEB

BRED Board

C13

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




2438 (8")

&
} _}_ 6102 ! : 762 (2'-6") 762 (2'-6") S0 | 76 an)
{1 oo I r
536ty o | 635 (2'-1"
o e
_l_.. ‘__.i_. t W o '. YT S— e L - e L H 1 R i S . T .—;--
| !
1l { ‘Ir\*—- c-d-ek ‘? 381 (1'-3") \
: - il 229 (9") 8
Ll
<
|
| i Position of Guy
$ 1
]
l4339my | |
e
Pl
i
! ; ! ac (7-07)
1
I |
7~ | |
]
g3
b _*,-& =
/ | b -
; &R R B RIE STom S e 34900
cm | | o
|
| | t Ahsan MoHik)
i % REB.
} | Asst. Secy. (Board), B
q
|
I

L3

d. M ammel Hug)
Md. Dthidul Islam) (M@, APP RRF
|' Ma'ozibur RIS congtant Tapp prer  Comsultant T

gant TAT |

.

Annent

e Q= —
1.0 :holes at both end should be 11/16"p
2. 70 200° R.S or less 11 KV with Hawk conductor, (M .Abdul Khaleque‘)

3. For 300" R.S or less 11 KV with Penguin conductor. Consultant TAPP. BRER : BREH
4. ?g‘ﬂ;ll;]ﬂ“;lrs f?fﬂwm install the brace with cross-arm, CmmlmLTAPP
ifthe holes xing the brace with pole is not available, install the 4-way pole band. £ . ortty
3. Neutral position may be changed in the field as direction by the engineer. (Debasm Ghﬂ“ﬁg‘a L
6. Normally Bolts will be used to fix the hardwares. |f aot possible PD ,TAPP. BRE
use of G 1 Clamps (duly approved by BREB) shall be made.
ITEM | MAT. CODE |Qty. MATERIAL ITEM | MAT. CODE| Qty. MATERIAL
a Cl 03 |Insulator, pin type ac B43/43.1/43.2 1 01 Brace, steel, side arm,7'/60" /25"
¢ B 6/7/8 01 | Bolt, machine, 5/8" x Required length da B2 "1 01 | Bracket, s
¢ B3 01 |Bolt, machine, 1/2"x1%"p cm Ci 01 | Spool, Insulator, 1-3/4" or 3" dia_groove
d B46 03 | Washer, square, 2%"p . T B1 03 | Pin, X-arm, steel, 5/8" x [0-3/3"
B X7 01 |Crossarm, steel channel 4" x 2" x 2" x 4" x 8'-0" ek B 50/138 03 | Locknuts
01 _l4-way pole band(if necessary with nut & bolt) [ B4/B4.1-4.3 01 [ Bolt, M/C, 1/2"x g 12"
i B40 01 [Screw, lag (for, wood pole only)
¢
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV PRIMARY, 3-PHASE SIDE ARM WITH STEEL CROSSARM (X7) CONSTRUCTION-TANGENT

Revision No.

Date of Origin

Reviewed by

Approved by

Unit Designation

July 1979

BREB

BREB Board

6

C13A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1524 (5"

=
_(5*,«_1_ —

76 (3")
RTINS °

610 (2') 686 (2-3")

W;ssa‘i‘ﬂ‘.ﬂ& |

TS’E&I' L

4
1

| 29 ©") I

8

o el

76

‘ ?m{%‘

f : B
— N -J R s SN e S s i R
| @ @ X 7‘9 4 a ;=
| '
AL \_c I c-d-ek
| I I c-d-ek 2 | ] |
bl | ‘ !
I\ i | |
[ | ‘ |
E il | |
L E i
Ll !
1600 (5-3") 6 | ‘ I
| [
i E | r I
1829(6'-0") | i
s il
| |
] - aa0? i
b A’ A
| | e ‘s\‘ﬁ@ |
-~ | ‘ i c-da-d-ek SV / | o
1 | 4 0\ ac (7-0") I Su
b _MWWJP,_ -3{\5@ I | o
A1) @@ﬁ = L 1A B
- ! -~ [=ihas
Mmoo w2 = I =
| 3] e LA U258
P I I
. | i
L4 gl g
E o0 I !
B ; L]
| bl ]L’:\!’"f TAPP BREB | ’ |
[ 4 2 Consu (Md” Ahsanul Haque; | |
L1 Consultant TAPP. BRER s 1 4
I (Debasfsh bha;‘:,gp [ |
; : 1 Notes :- PD,TAPP : ‘ ;|
R 1. Brace holes at both end should be 11/16"p R
| 2. For 100' RS 11 KV with Penguin conductor. I [ =k
k_,lfj 3. After installing cross-arm, install the brace with cross-arm, K,ckj . _g%
~ i if the holes for fixing the brace with pole is not available, install the 4-way pole band. | Se
4. Neutral position may be changed in the tield as direction by the engineer, E =
5. Normally Bolts will be used to fix the hardwares. If not possible He
use of G | Clamps (duly approved by BREB shall be made. 2 £
6. Screw, lag is required when the unit installed on wooden pole. S F
(Kamrul Ahsan Mollik) =
Asst. Secy. (Board), BREB.

ITEM |[MAT. CODE [Qty. MATERIAL [TEM | MAT. CODE| Qty. MATERIAL
a 5 03 |Insulator, pin type cu B43/43.1/43.2 01 |[Brace, steel, side arm, 7'/60" /25"
¢ B6/7/8 02 | Bolt, machine, 5/8" x Required length bs B33/34/35 01 Bolt, Single upsct, 5/8"'x req'd length
¢l B3 01 _|Bolt, machine, 1/2"x 1%4"0 cm C3n 01 | Spool, nsulator, [-3/4" or 3" dia_groove
f Bl 02_[Pin, X-arm, steel, 5/8" x 10-3/4" d B46 03| Washer, square, 77"

b B2 01 _|Pin, Pole Top, 20" ek B 50 04 | Cocknuts, SB"p_

g X6 01 |Crossarm, steel channel 4" x 2" x 2" x 4" X 5-0" 01 | 4-way pole band (if necessary
c Bd/4.1-4.3 01 | Bolt, M/C, 1/2"x as req length with nut & bolt)

i B40 01 | Serew, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE SIDE ARM WITH STEEL CROSSARM (X6) CONSTRUCTION-TANGENT

Date of Origin

Reviewed by Approved by Revision No.

Unit Designation

July 1979

BRERB BREB Board 6

C13B

Reviciom Date-

Tuly 1ORN Tune 1081

Aunonet 1GR9 Tulv 1005 Anouet 7M1 Faheuaes 200710

T —




6__" ]_‘ 2._3" _2'-6" . zl_su i 4;.
] -
i } 2l_lll o
il _W! I/?‘i
i )
SN g
% S I L
o ¥ = el
el & e \ k
al i /
| n-d-ek 8
Ll ] n-d-ek
/ (I ¢ (1/2" Bolt)
Position ‘
of Guy |
3!_9" '
| 1
g
| |
I I At
| 7 oc (7'-0")
B e
c-d-ek | | 5 e
| o
i
[ | A
il F; 4501 Khaleque)  (vid. Ahsanul Hadbe)
[ Cohrlllisu-ltamTAPp BREB gnsultant TAP P'BRE(DebaSi-Sh Cha ﬁg%my |
I _ PD,TARP, BR
d-ek I : l :
[ | ‘
- (Md. Duhidul Islam) Md. Mozamme! Hua)
L ey Qﬂk“?@?ﬂr@" Consuitant TAPP BRER .fﬁnsuuam TAPP RRF!
|
|
s NOTE:
Z. Brace installation first bolt brace to crossorm, then drill brace baolt haote through pole. <
3. Where thesze assemblies are required, spans should be zhortened.
4. Meutral position may be changed in the field as directed by the Engineer.
5. Screw, lag is required when the unit is installed on wooden pole only.
i MAT, - MAT. |, B
|TEM H"\J ("IHIDE MATtRlAL. |TEM PC’DE NCL '\A}\‘[E:F*.IH“..
a 6 €1 Insulator, pin_type 1 B40Q 2 Screw, lag, 1/2"x 4" (for wood pole only)
¢ |1 1 Be/7/8 |Eclt, machine, 5/8° x reg'd lenqgth n [B26/27728| 3 [Bolt, double arming, 5/ « req'd Tenglh
¢ 2 IB4B4IAD [Bolt, raachine, 1/2"x 6" - 12" ac |saaaana2| 2 | Brace, steal, sidearrm, 760"/ 25"
d |12 | B46/118 [Washer, square, = 1/4 da | B72 |1 [Bracket, secondary
d 3 | B48 [Washer, round, 1 3/8 diameter crn | C3/2 |1 |Speolinsulatar 1-5/74"0rd" dia groove
1 Bl Fin, crossanm, steel, 5/8 x T0 3/47 &K go0 (13 [Locknuts, &,/% Dbelt size
g |2 X1 Crossdary, g 177 Xa /7 x5’ —{) ek | B5T 2 [Tocknuis 1/2 Balf size
i 2| B32 Bolt Carringe, 3/8"x 4 1/3' i B40 1 | Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

£ i i 0
Unit Description: 6.35/11 KV PRIMARY, 3-PHASE SIDEARM CONSTRUCTION WITH WOODEN CROSSARM- () TO 150 ANGLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREDB

BREDB Board

6

C14

Revision Date: Julv 1980, Tune 1981. Aucust 1989, JTulv 1995 Aucust 2013, Fehruarv 2020




2438 (8") 610 (2-3") 152(6") 381 (1'-3")

; 2438 (8')
=
| |F P I 610 (2'-3") 762 (26" _ 762 (2'-6")
| [ ; 229 (9") I |
]52(6"') { | % i /v’\ 635 (2'-1")
—t | g[ ™
A e | H f 1
=t ._._.E.E.;I___.,_. e e g ,_...._H_.__ R S B P A S o e DAL L A |
F | | neck \ %‘l 381 (1-3") | |
: | 229 (9") B :
[ n-ek | |
ST : 1
| |

n-ek

x Position of Guy

/ﬁﬁg;ﬁ ac (7-0")

j1ele]

Note .-

1. Brace holes at both end should be 11/16"¢

2, For200' R.S or less 11 KV with Hawk conductor.

3. For 300" R.S or less 11 KV with Penguin conductor. .
4, After installing cross-amm, install the brace with cross-arm, A Chakrabortly

if the holes for fixing the brace with pole is not available, install the 4-way pole band, {Deg?),TAPP' BRER

SR = MU

_{_

| 3. Neutral position may be changed in the ficld as direction by the enpincer,

6. Normally Bolts will be used to fix the hardwares, If not possible
use of G 1 Clamps (duly approved by BREB) shall be made.

7. Screw, lag is required when the unit is installed on wooden pole only.

(M. Ansaul Haque,

~ .
, — W Consultant.TAPP,
t_l\-ld.%mé:l*ﬁhmmi (Ma. Dunidul Islam), (Mﬁe: Hug, _(Md. Abdul Khaleque) LA

N enliant TADD ARER - Consuitant TAPP BRER ‘ansultant TAeP preConsultant TAPP, BRER

ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
a Cl 06 | Insulator, pin type n B26/27/28 03 Bolt, Double arming, 5/8" x Required length
¢ B 6/7/8 01 | Bolt, machine, 5/8" x Required iength ac B43/43.1/43.2 02 Brace, steel, side arm, 7' /60"/258"
c B4/4.1-4.3 02 | Bolt, machine, 1/2" x 6" - 12" da B 72 01 Bracket, secondary
d B 46/118 03 | Washer, square 2 1/4" om C3/2 01 Spool,Insulator,1-3/4%or3"dia groove
f B1 06 | Pin, crossarm, steel, 5/8" x 10 3/4" ek B30 15 Locknuts, 5/8" bolt size
[ X7 02 | Crossarm, steel channel 4" x 2" x 2" x V4" x 8-0° C B3 02 |Bolt, M/C, 1/2"x 173"
i B40 02 | Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE SWIDE ARM WITH STEEL CROSSARM (X7) CONSTRUCTION.-
) 0°TO 15° ANGLE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 C 14 A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1524 (8}

r "I‘l —
I = J 610 (') 686 (2-3")
! J T |
151{1’."}l ﬂ | - ——
~— | f
f f &
_______ i [ S i R i TR _.é_L STy SR e _,?o‘ S
Y | E;\I 1 o F“
T %
| I ]}\_ n-ek
- 220 (97)
i B
r i
Iy
e S |

B
|
|
= E
| |
I !
| I .
1600 (5-3) I a
E oy | _ 2
. o
I o 1 o 4
1829 (6"-0") : ; | | 24
: ! 113
I o | B =2
It I g
il I 5 : il k"'“»
i -da-d-ek bt
P il / ¢ | l E
i —/1 i
» e I
ﬁ“‘“’“ P ac (7-0°) [ ‘ &
&l I |
= I | N4l E :
I & | | , |
t : l : o4
\A
e B 18 IBJ =
| , B
Lol | | 5
il | 1 { 5
T Rahman) (Mid. Dubidul el (M el Hu) a
.- \Md. Mozibur Rak {Md. Duhidul Islam (Md. Mozammel Hug,
ll : ll _r%;!jﬂn“aﬂ* TaPP ARER Consuitant TAPP nr,?} £r sonsultant TAPP RRES : ’ :
I L]
b | |
L i3
| ) ! ] |
I | N i d | |
; otes - (Md. RER A e
I ant TAPP B . . . Chaxkiay AN |
|| 1 Brace hal&'st both end should be 1 i/16" gMdeAsanul Hagie, lDebas‘i‘APp BREB B
| | 2Forl00' RS 11KV with Penguin cond@osultant TAPP. BREE — pD,TATT, L 49
L/{-_-;J 3. After installing cross-arm, install the brace with cross-arm, |\_,sz
: if the holes for fixing the brace with pole is not available, install the 4-way pole band. 1
4. Neutral position may be changed in the field as direction by the engineer.
5. Normally Bolts will be used to fix the hardwares, If not possible
use of G | Clamps (duly approved by BREB) shall be made.
6. Screw lag is required when the unit is installed on wooden pole only.
ITEM| MAT. CODE [ Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
a Ci 06 | Tnsulator, pin type_ n B26/27/28 = 03 Bolt, Double anming, 5/8” x Required length
€ B 6/7/8 03 | Bolt, machine, 5/8" x Required length ac B43/B43.1/B432| o Brace, steel, side arm, 7'/ 60" / 25"
¢ B3 02 | Bolt, machine, 1/2"x 11/’ da B 72 01 Bracket, secondary
d B 46/T18 03 | Washer, square 2 /4" cm C 372 01 Spool,Insulator, 1-3/4"0r3"dia groove
T Bl 04 | Pin, crossarm, steel, 5/8" x 10 3/4" ek B30 15 Locknuts, 5/8" boll size
b B2 02 | Pin, Pole Top, 20" ¢ "B4/B4.1-4.3 02 Bolt, M/C, 1/2"x as req length
g X-6 02 | Crossarm, steel channel 4" x 2" x 2" x %" x 5'-0" i B40 03 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE SIDE ARM WITH STEEL CROSSARM (X6) CONSTRUCTION-

e ——

0" To 15° ANGLE
Date of Origin Reviewed by Approved by Revision No, Unit Designation
July 1979 BREB BREB Board 6 C14B
Revigcion Date: Tulv 1980 Tune 1981 Aunoued 1989 Tulv 1995 Anonst 2013 Fehruarv 2020

e ————




‘onsuitan)

(Md Uuhpuaiia_m)

]- fL. - ) 3'_-8" W (. Jl-s.ﬂ 4“ "
i | —— = N
! ; 4 |E a S Q’O\Dt)
l | i : o VA9 T
] : . J\3~ u\h"\
L a _— QQW
[ i 2D o i '
| . p(note 2) L Bl ! F .
; l - [ ! ( il Khaleque)
L i | ., L Consuliant, TAPP, BREE
i :’ f"\- -— = B I \ ::.“I"r“\l i
bt g i L
-] s " Y PPN SRS SRR TN oo, s
s e o e L e)
‘.énsultaﬂLTAP P BRER
/Nebasish Chakeaporty
oD, TARP. BREB
I
Neutrol | .
1 B
|
-y
g |
S | .
i
Shman) -
(Md. Monbut RoNRED g |
‘,\ncn“"“ 0{ I
-
I
|
I

TARP BRET

Md. Myzammel Hug)
'.rlmsultani TAPP RRFF

NOTE :

1. Location of jumpers will be determind
by the phase to be tapped.

/ At cartain locations this connection T
will be made with a hot line clamp. Neutral i
3. Intersection angle of lower circuit may
vary from whot is shown on this /
drawing,
4. Screw, lag is required when the unit is
installed on wooden pole only.
i s e o
| PLAN |
ITEM[MAT. CODEINO MATERIAL ITEM|MAT. CODE |[NO. MATERIAL
a Cc1 5 |Insulator, pin type i B32 4 | Bolt, carrioge, 3/8 x4 1/2"
b B2 1 |Pin, pole top, 20" i_|B40/B4/4.1-4.3| 2 | Screw, log, 1/2"x4" /Bolt, m/c, 1/2"x 6" - 12"
c | B6/7/8 | 4 |Bolt, machine, 5/8"xreq'd length P I5/16 — | Connectors as required
d 1846/118 | 7 |Washer. square. 2 1/4" aq Jump
f 81 4 |Pin, crossarm, steel,5/8°x10 1/4"| bs [B33/34/35[ 1 | Bolt, single upset
q X1 2 |Crossarm, 3 1/2"x4 1/2"x8=0" cm| C3/2 1 | Spool Insulator, 1 3/4" or 3" dia groove
cu | Bal/al1/a4| 4 |Broce, Steel/ Wood, 28" x1/4" ek B507/138 |~ | Locknufs as required

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION WITH SINGLE PHASE JUNCTION

Date of Ongin

Revision No.

Unit Designation

Reviewed by

Approved by

July 1979

BRED

BREDB Board

6

C22

Revision Date: Julv 1980, June 1981. Aucust 1989. Julv 1995. August 2013. Fehruarv 2020

T




1219 (4) 1219 (4')
l ™
76 (3" ”
i 76(3") 76 (") 76 (3")
152 (6") / \1352(6%)
| ¥4 1067 (3-6") 1067 (3-6") N

\LB

NOTE:

1. Brace holes at both end shouid be 11/16"¢

portty)
(Debasish Cfiakial
& o0 TAPP, BREB
—] (Mf Abdul Khaleque,
91 Consultant TAPP RRF
N (Md. Ahsanul Haque,
Position of Guy “onsultant TAPP BREI

.ml

(N]dml Islam)

nonsuitant TAPP BRF

2. For 300 RS 11 KV with Pinguin / Hawk conductor. s Sananltan
3. Intersection angle of lower circuit may vary from what is shown on
g, \ ,.
4 :riain location this connection will be made with hot line clamp. bs
5. Location of jumper will be determined by the phase to be tapped. ‘:599 5\
6. Normally Bolts will be used to fix the hardwares. If not possible (Md. zamimel R, Qé
use of G | Clamps (duly approved by BREB) shall be made. nnsuﬂarﬂ TAPP RRE
7. Serew, lag is required when the unit is installed on wooden pole only. .':'
?gé‘*
ITEM [MAT. CODE [Qty. MATERIAL [TEM [MAT.CODE] Qty.] MATERIAL
a Cl 05 | Insulator, pin type P 15/16 02 | Conneclors as required
b B2 01 | Pin, pole top, 20" ag D 2/316 - Jumpers, and [eads as required
¢ B 6/7/8 04 | Bolt, machine, 5/8" x Required length hs B33/34/35 01 | Bolt, single upset
d BA6/T18 07 | Washer, square, 2 1/4" cm C3n2 01 {Insulator, Spool, 1-3/4" or 3" grove dia |
f Bl 04 | Pin.crossarm, steel, 5/8" x 10-1/4" ek B 50 11| Locknuty as rquired
g X7 02 | Crossarm, steel channel4" x 2" x 2" X /" x 80" C B3 4 [Bolt, MiC, U2'X T
cu B42/42.1/45 02 | Brace, Steel/ Wood 60" span i B40 2 [Screw, lag (for wood pole only) |
c B4/4.1-4.3 06 | Bolt MIC, 12"x 6" - 12"

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/ 11 KV PRIMARY , 3-PHASE STEEL CROSSARM(X7) CONSTRUCTION
WITH SINGLE PHASE JUNCTION (Run)

Date of Origin

Reviewed by

Approved by

Revision No. Unit Designation

July 1979

BREB

BREB Board

J C22A Sheet | of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




L3> B @I ORI sy ks A48 99900

— — — —

Mollik)

oard), BREB,

(Kamrul
Asst. Secy. (B

(v

1bur
Tansuitant TAPP BREB

E—— ——— — — — —— — w——

D ————

(Ma. Duhidul Islam)

(onsuitant

TAPP BRET
TOP VIEW

(Md.Wozamme! Hug)
‘ansultant TAPP RRFEF

mci

tant TAPP. BREF

|
T

S S— th— — ——

TAPP. BRED

|

|

|

|

|

N—é |
nepasish ChaK! 2oy l
7o |

|

|

W" |
Mdm

f‘nnsultnnt TAPP R

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY , 3-PHASE STEEL CROSSARM(X7) CONSTRUCTION

WITH SINGLE PHASE JUNCTION (Run)

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

C22A Sheet 2 of 2

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




U3 OF @S FOW WIS P48 78 3340¢

(Md. Ahsanul Hague,
Consultant TAPP BRE!

152 (6")

[T 763 ] 76037
e

152 (6")
763" [~ 78}'3";
___\

203
610(2) A

c-d-ekA—gl\_;,e&‘m

"
|
|
|
|
|
| 610 (2)
|
i..
ag3 (17 1s20sy ! E 483 (1-7") g—-—w%
]
*-..
|
I
|
|
|
1
|
|
I

-

(Debasish C! Kkrabortty
PD TAPP RRER

610

| {MM Rahman)
i Consultant TAPP ARET

L

{ivid. Lwrniau

~onsuitant TAPP

I
|
!
|
|

i
I
|
Md. Mdgammel Hug) |
qnquﬁtam TAPP BREB... ! et

7|

> |
) Es
NM%\, I

ansdtanLTAPP BREb :
Front View

L

Note.1; ; a-f.
1. Brace holes at both end should be 11/16"y Wrm Sy S \_‘
2. For 150' R.8 11 KV with Pinguin / Hawk conductor. i

%
3. Intersection angle of lower circuit may vary from what is shown on this dwg. i
!

4. At certain location this connection will be made with a hot line clamp.
5. Location of jumper will be determined by the phase to be tapped.

6. Nermally Bolts will be used to fix the hardwares. If not possible
use of G I Clamps (duly approved by BREB) shall be made. TOP VIEW

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6,35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION WITH SINGLE PHASE JUNCTION (Run)

ITEM | MAT. CODE Qty. MATERIAL Item| ~ Mat. Code | Qty MATERIAL

a Gl 05 | Insulator, pin type ¢ |B3 04 | Boir, MUC, 1/27x 113"

b B2 01 | Pin, pole top, 20" p_[15/16 02 [ Connectors as required

¢ B6/78 " |"04_| Bolt, machine, /8" x Required iength ag - Tumpers, and leads as required _

d Ba6/18 06_| Washer, square, 2_1/4" bs [B33/34/35 02 | Boll, single upset a

f BI 04 | Pin.crossarm, steel, 5/8" x 10-1/4" cm_|C3/2 01 |Spool insulator, | 3/4" or 3" dia groove |

3 X6 02 | Crossarm, steel channel 4" x 2" x 2" x /4" X 5-0" | ek _[B50 12 [Locknuts ss rquired |

cu B41/B41.1/44 (04 | Brace, Steel Wood 28" x '4" i |B40 02| Screw, lag (for wood pole only) I

c B4/4.1-4.3 02 | Bolt, M/C, 1/2"x 6" - 12" Note-2: Screw, lag is requived when the unit is installed on wooden pole only 1
|
|
I
|

Date ol Origin Reviewed by Approved by Revision No Unit Designation

Tuly 1979 BREB BREB Board 6 C22B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

T —



4" 3'-8" % 3'-8" 4 &
=
a ; a.-l
Sm———— a* |
|
V4
b 9—/%/ Frl
i ~ (Md, Abdul Khaleque) i
p (Note 4) I L e Consultant TAPP, BREB
[ 4
ek-c—d <
| - 1 .
; J ] 4
| - P - \
§ . \f\ o (Mo Ahsanui Haque,
X ] “onsultant TAPP, BREB
— - ——— A —
¥ N . S L -
aq (Note 3) > | | ek g
? % Lt e 5
o~
. | (Debasish CHakrabortty >
PD,TAPP, BREB -
:J I i |
g ! ,  Neutrol e !
N g, Y _ t b
3 / (at% tap l I l | il /\ ; I
] Bt
- a;as&:;n neutrai) ’:f[ f )b:i:{[ | ——— .-l
) |
j g : : | :— . Neutral :
= = i = cm
. @ / \ | ’ \p = ]
I I
Md. Zibur Rahman q ! r:([ g D o
E":r\\}‘l.'1\1l‘.!"-"‘1' TAPS g :tb : ﬁﬁ :
&u
Hib \v%:ﬁ* i

NOTE | i d.‘&:&*' !

1. Tap take—off angle between top and n‘d\ | i |
bottom circuit may very from what is ~ 1 1 P |
shown on this drawing. i N L w - =

1

2. Refer to C7 drawing for decdend A | | PN ]
requirements, 7T | | ] (7

3. Locotion of jumper ill be determined N g A i I - ; - \ 2

<. Locotion of jumpers will be rmine = .
by the phase to be tapped. \[ ks ‘i/‘}"ﬂfl 15 i o

4. Al certain locations this connection will i - i i |

3 : c=d
be made with hot line clomp. f v (hioke 4 | | | |

5. See Dwg. M42-11 for deadend assembly F =tk b | E:C | E |

™. deatils. LJ‘]/ 1 |

6. Screw, lag is required when the unit is installed I | |
on wooden pole only. | \ (Note~3) 1 ] | g K f |

s
I \ /’ ned-ek | | | | / / /” |
(Md. Dunidu) slam) (Md. Wgzammel Hug) e :{A\m o % e sl
‘onsuitant TAPT BRT <qngyjitant TAPP RREF | —~ - — — B T+ {T e |
g
I = ~Jrr P LAN |
TEM[ MAT. CODE| NO | MATERIAL [ ITEM [ NG, | MAT, CODE MATERIAL

o |[C1 4 | Insulator, pin type i s 1 BY3 Clevis, secondory, swinging

B 1 _ | Pio. _peie top, 20" ca | 2 B53 Nut. eye, 5/8"

¢ [H/677/8 | 3 | Bol. machine, 5/87xreqd length e 15/6 Connectors as_required

d_|B46/118 16 | Washer, 2 1/4 sq, aq Jurnpers, as required

i 181 3_IPin,_crossarm, steel, 5/8°%10 3/4"1 bs | i B33/34/35 | Bolt, single upset

g Xt " 3 | Crossorm, 3 1/2"x4 1/2"%8 0" i b 7 B85/86 Clamp, Toop decderd

L 1832 -6 Bolt, carrigae, 3/87x4 1/2° cm | 2 C3/2 Spool Insuiotor, 1 3/4" or 3" dig groove
Bd/4.1-4.3 & |‘ Screw,lgg, 1/2 x4"/ Bolt, m/e, 1/2"x 6"- 12" ¢y g B41/41.1/44 Brace, Steel Wood 28" X V"

k IC10 ¢ ! lnsulator, suspension ek | 250 Locknuts, 5/8" bolt size

| |B81/132/133 T | Clamp, aeadend ] B26/27/28 | Bl double _arming, 5/B"xreqd. Jength

I [B40 3 | Screw, lag (for wood pole only) [

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION- SINGLE CIRCUIT, 1-PHASE TAP

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

C23

Tulv 1980

Revicion Date:

Time 1981 Anona 1089

Tulv 1995 Anonst 2013

Fehrnarv 2070




12149 4

1219 (4

|-

1067 (3'-6")

1067 (3-6")

) O 16 I SRS

W@ w8 Y1200

Note :-

—

Position of Guy —/

1. Brace holes at both end should be [1/16"p
2. For 300' R.S 11 KV with Hawk conductor,
3. For 300' R.S 11 KV with Penguin conductor,
4. Tap take-off angle between top and bottom circuit may vary
from what is shown on this drawing,
5. Refer to A7 drawing for deadend requirements.
6. Location of jumpers will be determined by the phase to be tapped.
7. At certain location this connection will be made with hot line clamp.

PRSI

(Md.

TAnsn

— g

%{uﬂ.{ahmn)

(to be tap neutral)

610

Itant TADD ARET

(Kamrul A%San M@Tmci

Asst. Secy. (Roa-*

Md. Abdul Khaleque
cénsmsammn BREI

(Md. Ahsanul Hague
Consultant TAPP, BRE]

(2

(Debasish akrabortty
PD,TAPP BREB

_

8. Sge drawing M42-11 for deadend assembly details. edek ||
9" lrawing E5-1 for crossarm loading limitation. . : bs
10, Normally Bolts will be used to fix the hardwares. [f not nossible : | | (Md. Duhidul Isfam) (Md. Mdzammel Hug)
use of G | Clamps (duly approved by BREB) shall be made. s Consuitant TAPD RBET ‘ansultant TAPP RRET
L1. Screw, lag is required when the unit is installed on wooden oo
ole only.
P ly k"ﬁ:j
Item| Mat. Code | Qty, MATERIAL ITEM| MAT. CODE | Qty. MATERIAL
2 | C 04 | Insulator, pin type s B3 01 [Clevis, secondary, swinging
wlipy - 01 [ Pin, pole top, 20" aa BS3 02 [Nut, eye, 578"
¢ | B6/7/8 03 | Bolt, machine, 5/8" x Required length p 15/6 - Connectors as required
d | B46/118 05 | Washer, square, 2 /4" ag D 2/3726 - Jumpers, as required
f BT 03 | Pincrossarm, steel, S/8" x 10-3/4" e bn B 85786 02| CTamp, Toop deadend
8 | X7 03 | Crossarm, steel channel 4" x2"x 2" x V4" x §-0" cm Ca 02 |Spool, Insulator, 1-3/4% or 3" dia_groove
k [Cl0 02 | Insulator, suspension cu B42/B42.1/B45 | 03 |Bmace. Steel/'Wood 60 span
| [B8I/132/133 | 01 | Clamp, deadend ek B 50/138 27 |Locknuts, 5/8" bolf size
c | B3 06| Boli, M/C, /2"x 1175’ n 26/27728 03 o amung, 578" x
¢ B4/4.1-4.3 03 Bolt, M/C, 1/2"x 6"~ 12" bs B33/34/35 01 Bolt, Single Upset, S/8"x as req'd length
I |B40/B4/4.1-4.3 | 03 [ Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/ 11 KV. PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION SINGLE CIRCUIT |-PHASE TAP

Date of Origm

Reviewed by Approved by

Revision No.

Unit Designation

July 1979

BREB BREB Board

6

C23A Sheet | of 2

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




